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Q.1 निम्नलिखित में से उस समुच्चय का चयन कीजिए, जिसमें संख्याएँ  उसी प्रकार से संबंधित हैं, जिस प्रकार दिए गए
समुच्चय की संख्याएँ  संबंधित हैं।
(नोट: संख्याओं  को उसके  घटक अंकों में विभाजित किए बिना, पूर्ण संख्याओं  पर ही गणितीय संक्रियाएँ  की जानी
चाहिए। जैसे 13 - मान लीजिए 13 पर गणितीय संक्रियाएँ  जैसे कि 13 में जोड़ना/घटाना/गुणा करना आदि किया
जा सकता है। 13 को 1 और 3 में तोड़कर और फिर 1 और 3 पर गणितीय संक्रियाएँ  करने की अनुमति नहीं है।)
(16, 400, 4)
(10, 256, 6)

Ans 1. (12, 441, 9)

2. (13, 497, 4)

3. (15, 422, 9)

4. (11, 388, 6)

Question ID : 26433083122
Option 1 ID : 264330326323
Option 2 ID : 264330326322
Option 3 ID : 264330326321
Option 4 ID : 264330326324

Status : Answered
Chosen Option : 1

Q.2 यदि '+' का अर्थ '−', ' –' का अर्थ '÷', '÷' का अर्थ '+', और '×' का अर्थ − है, तो निम्नलिखित व्यंजक का मान
ज्ञात करें ।

33 + 14 – 2 × 17 ÷ 71 = ?
Ans 1. 90

2. 100

3. 80

4. 70

Question ID : 264330130353
Option 1 ID : 264330510523
Option 2 ID : 264330510524
Option 3 ID : 264330510525
Option 4 ID : 264330510526

Status : Answered
Chosen Option : 3
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Q.3 उस विकल्प का चयन कीजिए जो नीचे दिए गए शब्दों के  उस सही क्रम को दर्शाता है, जिस क्रम में वे अंग्रेजी
शब्दकोश में आएंगे।

1. Legerity
2. Legitimate
3. Legislation
4. Legendary
5. Legalist
6. Legging

Ans 1. 5, 4, 1, 6, 3, 2

2. 5, 4, 1, 2, 6, 3

3. 5, 4, 6, 2, 1, 3

4. 5, 4, 6, 3, 1, 2

Question ID : 264330144931
Option 1 ID : 264330567980
Option 2 ID : 264330567981
Option 3 ID : 264330567982
Option 4 ID : 264330567979

Status : Answered
Chosen Option : 1
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Q.4 उस विकल्प का चयन करें  जिसमें दी गई आकृ ति अंतर्नि हित है (घुमाने की अनुमति नहीं है)।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330132509
Option 1 ID : 264330519134
Option 2 ID : 264330519133
Option 3 ID : 264330519131
Option 4 ID : 264330519132

Status : Answered
Chosen Option : 3
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Q.5 उस विकल्प का चयन कीजिए जो पाँचवीं संख्या से उसी प्रकार संबंधित हो, जैसे दू सरी संख्या पहली संख्या से
संबंधित है और चौथी संख्या तीसरी संख्या से संबंधित है।
100 : 45 :: 200 : 70 : 300 : ?

Ans 1. 98

2. 200

3. 95

4. 105

Question ID : 26433089556
Option 1 ID : 264330351726
Option 2 ID : 264330351728
Option 3 ID : 264330351725
Option 4 ID : 264330351727

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.6 निम्नलिखित चार अक्षर-समूहों में से तीन एक निश्चित तरीके  से आपस में संगत हैं, जबकि कोई एक उनसे असंगत
है। असंगत अक्षर-समूह का चयन करें ।

Ans 1. IRHQ

2. KPJO

3. FUET

4. DWEU

Question ID : 26433068783
Option 1 ID : 264330269645
Option 2 ID : 264330269647
Option 3 ID : 264330269644
Option 4 ID : 264330269646

Status : Answered
Chosen Option : 4
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Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 26433087158
Option 1 ID : 264330342270
Option 2 ID : 264330342271
Option 3 ID : 264330342269
Option 4 ID : 264330342272

Status : Answered
Chosen Option : 1
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Q.8

Ans 1. 15

2. 14

3. 17

4. 16

Question ID : 26433068627
Option 1 ID : 264330269021
Option 2 ID : 264330269023
Option 3 ID : 264330269022
Option 4 ID : 264330269020

Status : Answered
Chosen Option : 4

Q.9 दी गई श्रृंखला को पूरा करने के  लिए कौन-सा अक्षर-समूह प्रश्न चिह्न (?) को प्रतिस्थापित करे गा?
RXBG, OVEK, ?, IRKS, FPNW

Ans 1. LUHO

2. LVHO

3. LTIO

4. LTHO

Question ID : 26433067963
Option 1 ID : 264330266365
Option 2 ID : 264330266364
Option 3 ID : 264330266366
Option 4 ID : 264330266367

Status : Answered
Chosen Option : 4

Q.10 एक लड़की की ओर इशारा करते हुए अभिषेक ने कहा “वह मेरे  दादा/नाना की इकलौती संतान की पुत्री है”।
लड़की का अभिषेक से क्या संबंध है?

Ans 1. माँ

2. बुआ

3. पुत्री

4. बहन

Question ID : 264330132337
Option 1 ID : 264330518443
Option 2 ID : 264330518446
Option 3 ID : 264330518445
Option 4 ID : 264330518444

Status : Answered
Chosen Option : 4
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Q.11 उस समुच्चय का चयन कीजिए, जिसमें संख्याएँ  उसी तरह से संबंधित हैं, जिस प्रकार दिए गए समुच्चय की संख्याएँ
आपस में संबंधित हैं। (नोट: संख्याओं  को उसके  घटक अंकों में विभाजित किए बिना, पूर्ण संख्याओं  पर ही
गणितीय संक्रियाएँ  की जानी चाहिए। जैसे 13 - मान लीजिए 13 पर गणितीय संक्रियाएँ  जैसे कि 13 में जोड़ना/
घटाना/गुणा करना आदि किया जा सकता है। 13 को 1 और 3 में तोड़कर और फिर 1 और 3 पर गणितीय
संक्रियाएँ  करने की अनुमति नहीं है।)
(11, 55, 29)
(8, 40, 20)

Ans 1. (12, 62, 32)

2. (7, 35, 25)

3. (6, 30, 14)

4. (9, 54, 23)

Question ID : 26433078965
Option 1 ID : 264330309875
Option 2 ID : 264330309872
Option 3 ID : 264330309873
Option 4 ID : 264330309874

Status : Answered
Chosen Option : 3

Q.12 ‘A + B’ का अर्थ है ‘A, B का बेटा है’
‘A – B’ का अर्थ है ‘A, B की माँ है’
‘A × B’ का अर्थ है ‘A, B का पिता है’
‘A ÷ B’ का अर्थ है ‘A, B का भाई है’
यदि ‘F × G ÷ K − M + S × W’ है, तो निम्नलिखित में से कौन-सा कथन सही नहीं है?

Ans 1. S, K का पति है ।

2. S, G का भाई है ।

3. M, G का भांजा है ।

4. G, S का साला है ।

Question ID : 264330102487
Option 1 ID : 264330402379
Option 2 ID : 264330402377
Option 3 ID : 264330402378
Option 4 ID : 264330402380

Status : Answered
Chosen Option : 2
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Q.13 नीचे तीन कथन और उसके  बाद I, II और III संख्यांकित वाले तीन निष्कर्ष दिये गए हैं। यह मानते हुए कि कथनों में
दी गई जानकारी सत्‍य है, भले ही ये कथन सामान्‍य रूप से ज्ञात तथ्यों से भिन्‍न प्रतीत होते हों, यह निर्णय कीजिए
कि कौन सा/से निष्कर्ष इन कथनों का तार्कि क रूप से अनुसरण करता है/करते हैं।

कथन:

सभी स्विच पंखे हैं।

कोई हीटर पंखा नहीं है।

कु छ तार हीटर हैं।

निष्कर्ष:

I. कु छ तार पंखे हैं।

II. कोई स्विच हीटर नहीं है।

III. कोई तार स्विच नहीं है।

Ans 1. निष्कर्ष I और II दोनों अनुसरण करते हैं ।

2. के वल निष्कर्ष I अनुसरण करता है ।

3. के वल निष्कर्ष II अनुसरण करता है ।

4. निष्कर्ष I और III दोनों अनुसरण करते हैं ।

Question ID : 264330144911
Option 1 ID : 264330567899
Option 2 ID : 264330567902
Option 3 ID : 264330567901
Option 4 ID : 264330567900

Status : Answered
Chosen Option : 3
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Q.14 एक कागज को नीचे दर्शाए गए अनुसार मोड़ा और काटा जाता है। खोलने के  बाद यह कै सा दिखाई देगा?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330106337
Option 1 ID : 264330417651
Option 2 ID : 264330417652
Option 3 ID : 264330417649
Option 4 ID : 264330417650

Status : Answered
Chosen Option : 1

Q.15 निम्नलिखित में से कौन-सी संख्या दी गई श्रृंखला में प्रश्न चिह्न (?) को प्रतिस्थापित करे गी?
420, 342, 342, ?, 272

Ans 1. 324

2. 292

3. 272

4. 284

Question ID : 26433082433
Option 1 ID : 264330323567
Option 2 ID : 264330323566
Option 3 ID : 264330323565
Option 4 ID : 264330323568

Status : Answered
Chosen Option : 3
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Q.16 उस विकल्प का चयन करें , जो छठी संख्या से उसी प्रकार संबंधित है, जिस प्रकार पहली संख्या दू सरी संख्या से
और तीसरी संख्या चौथी संख्या से संबंधित है।
48 : 2 :: 448 : 6 :: ? : 8

Ans 1. 881

2. 512

3. 729

4. 900

Question ID : 26433087205
Option 1 ID : 264330342459
Option 2 ID : 264330342457
Option 3 ID : 264330342458
Option 4 ID : 264330342460

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.17 बिं दु A, बिं दु B से 35 m पूर्व में है। बिं दु C, बिं दु B से 28 m दक्षिण में है। बिं दु C, बिं दु D से 15 m पूर्व में है।
बिं दु E, बिं दु D से 14 m उत्तर में है। बिं दु F, बिं दु E से 20 m पूर्व में है। बिं दु F के  सापेक्ष बिं दु A किस दिशा में है?

Ans 1. उत्तर

2. पश्चिम

3. दक्षिण-पूर्व

4. उत्तर-पूर्व

Question ID : 264330131627
Option 1 ID : 264330515608
Option 2 ID : 264330515609
Option 3 ID : 264330515607
Option 4 ID : 264330515610

Status : Answered
Chosen Option : 4

Q.18 निम्नलिखित चार अक्षर-समूहों में से तीन एक निश्चित तरीके  से आपस में संगत है, जबकि कोई एक उनसे असंगत
है। असंगत अक्षर-समूह का चयन करें ।

Ans 1. CXEW

2. FUHS

3. GTIR

4. MNOL

Question ID : 26433057232
Option 1 ID : 264330223915
Option 2 ID : 264330223913
Option 3 ID : 264330223912
Option 4 ID : 264330223914

Status : Answered
Chosen Option : 1
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Q.19 यदि ‘A’ का अर्थ ‘÷’ है, ‘B’ का अर्थ ‘×’ है, ‘C’ का अर्थ ‘+’ है और ‘D’ का अर्थ ‘−’ है, तो निम्नलिखित समीकरण
में प्रश्न चिह्न (?) के  स्थान पर क्या आएगा?
3 B 29 D 1 C 9 A 9 = ?

Ans 1. 89

2. 69

3. 87

4. 88

Question ID : 264330141899
Option 1 ID : 264330555916
Option 2 ID : 264330555917
Option 3 ID : 264330555918
Option 4 ID : 264330555915

Status : Answered
Chosen Option : 3

Q.20 दो कथनों के  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप से ज्ञात
तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण करता/
करते है/हैं।

कथन:

सभी चाबियाँ, ताले हैं।

सभी ताले, हैंडल हैं।

निष्कर्ष:

I. कु छ ताले, चाबियाँ हैं।

II. कु छ हैंडल, चाबियाँ हैं।

Ans 1. न तो निष्कर्ष I अनुसरण करता है  और न ही II अनुसरण करता है

2. के वल निष्कर्ष II अनुसरण करता है

3. निष्कर्ष I और II दोनों अनुसरण करते हैं

4. के वल निष्कर्ष I अनुसरण करता है

Question ID : 264330144956
Option 1 ID : 264330568082
Option 2 ID : 264330568080
Option 3 ID : 264330568081
Option 4 ID : 264330568079

Status : Answered
Chosen Option : 3

Q.21 उस विकल्प का चयन कीजिए जो चौथी संख्या से उसी प्रकार संबंधित है जिस प्रकार पहली संख्या दू सरी संख्या से
संबंधित है और पांचवीं संख्या छठी संख्या से संबंधित है?

648 : 8 :: ? : 12 :: 18 : 2
Ans 1. 2028

2. 1840

3. 2648

4. 3240

Question ID : 264330144881
Option 1 ID : 264330567782
Option 2 ID : 264330567779
Option 3 ID : 264330567780
Option 4 ID : 264330567781

Status : Answered
Chosen Option : 4
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Q.22 एक निश्चित कू ट भाषा में, 'MARS' को '1752223' के  रूप में लिखा जाता है और 'TIDE' को '241389' के  रूप
में लिखा जाता है। उसी भाषा में 'BABY' को कै से लिखा जाएगा?

Ans 1. 65629

2. 65216

3. 86425

4. 79523

Question ID : 26433082564
Option 1 ID : 264330324090
Option 2 ID : 264330324091
Option 3 ID : 264330324092
Option 4 ID : 264330324089

Status : Answered
Chosen Option : 1

Q.23 निम्नांकित शृंखला में पैटर्न को जारी रखने के  लिए प्रश्नचिह्न (?) को किस आकृ ति द्वारा प्रतिस्थापित किया जाना
चाहिए?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330129592
Option 1 ID : 264330507734
Option 2 ID : 264330507735
Option 3 ID : 264330507736
Option 4 ID : 264330507737

Status : Answered
Chosen Option : 3
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Q.24 एक निश्चित भाषा में यदि “SYSTEM” को “SYSMET” लिखा जाता है और “NEARER” को “AENRER”
लिखा जाता है। उसी कू ट भाषा में “FRACTION” को कै से लिखा जाएगा?

Ans 1. ACRFTION

2. NOITCARF

3. CARFNOIT

4. TOINCARF

Question ID : 26433081991
Option 1 ID : 264330321797
Option 2 ID : 264330321798
Option 3 ID : 264330321799
Option 4 ID : 264330321800

Status : Answered
Chosen Option : 3

Q.25 उस विकल्प का चयन करें  जो तीसरे  शब्द से उसी प्रकार संबंधित है जिस प्रकार दू सरा शब्द पहले शब्द से संबंधित
है।
शब्दों को अर्थपूर्ण अंग्रेजी/हिन्दी शब्दों के  रूप में माना जाना चाहिए और इन्हें शब्द में अक्षरों की संख्या/व्यं जनों की
संख्या/स्वरों की संख्या के  आधार पर एक-दू सरे  से संबद्ध नहीं किया जाना चाहिए।)
त्रिभुज : 3 :: षट्भुज : ?

Ans 1. 8

2. 6

3. 5

4. 4

Question ID : 26433087288
Option 1 ID : 264330342792
Option 2 ID : 264330342791
Option 3 ID : 264330342790
Option 4 ID : 264330342789

Status : Answered
Chosen Option : 2

Q.26

Ans
1. 

2. 

3. 

4. 

Question ID : 264330109213
Option 1 ID : 264330429130
Option 2 ID : 264330429129
Option 3 ID : 264330429131
Option 4 ID : 264330429132

Status : Answered
Chosen Option : 3
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Q.27 आठ लड़कियां - L, M, N, O, P, Q, R और S - दो पंक्तियों में बैठी थीं, जिनमें से एक पंक्ति उत्तर की ओर
अभिमुख है और दू सरी पंक्ति दक्षिण की ओर अभिमुख है। प्रत्येक पंक्ति में के वल चार कु र्सि याँ थीं। आसन्न

लड़कियों के  बीच समान दू री है। एक पंक्ति में प्रत्येक व्यक्ति, दू सरी पंक्ति के  किसी अन्य व्यक्ति के  सामने है। Q
और P एक-दू सरे  के  तिर्यक रूप से सामने हैं। M, P के  सामने है। R, L के  ठीक दाएं  पड़ोस में है। S, M के  दाएं
दू सरे  स्थान पर है। N, पंक्ति के  किसी एक छोर पर है। O के  सामने निम्नलिखित में से कौन सी लड़की बैठी है?

Ans 1. S

2. L 

3. R

4. N

Question ID : 26433091577
Option 1 ID : 264330359676
Option 2 ID : 264330359673
Option 3 ID : 264330359674
Option 4 ID : 264330359675

Status : Answered
Chosen Option : 3
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Q.28 उस विकल्प का चयन करें  जिसमें दी गई आकृ ति अंतर्नि हित है (घुमाने की अनुमति नहीं है)।

Ans

1. 

2. 

3. 

4. 

Question ID : 264330111655
Option 1 ID : 264330438705
Option 2 ID : 264330438706
Option 3 ID : 264330438708
Option 4 ID : 264330438707

Status : Answered
Chosen Option : 2

Q.29 कौन-सा अक्षर-समूह दी गई शृंखला की पूर्ति  के  लिए प्रश्नचिह्न (?) को प्रतिस्थापित करे गा?
BLRW, DMUX, FNXY, ?, JPDA

Ans 1. HOAZ

2. HAZO

3. HAYO

4. HOAX

Question ID : 26433076664
Option 1 ID : 264330300722
Option 2 ID : 264330300720
Option 3 ID : 264330300721
Option 4 ID : 264330300723

Status : Answered
Chosen Option : 1
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Q.30 दिए गए विकल्पों में से उस संख्या का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकती है।
64, 72, 81, 91, ?

Ans 1. 100

2. 102

3. 105

4. 104

Question ID : 264330112665
Option 1 ID : 264330442745
Option 2 ID : 264330442746
Option 3 ID : 264330442748
Option 4 ID : 264330442747

Status : Answered
Chosen Option : 2

Q.31 दिए गए समीकरण को संतुलित करने के  लिए किन दो संख्याओं  (अंकों को नहीं) को परस्पर बदलना होगा?

(96 ÷ 12) + (7)2 + 18 = 112 – (16 × 3) – (69 ÷ 23)
Ans 1. 7 और18

2. 18 और 16

3. 12 और 16

4. 7 और 3

Question ID : 264330144860
Option 1 ID : 264330567696
Option 2 ID : 264330567698
Option 3 ID : 264330567697
Option 4 ID : 264330567695

Status : Answered
Chosen Option : 3

Q.32 K, L, M, W, X, Y और Z ने एक परीक्षा में अलग-अलग अंक प्राप्त किए। K ने के वल दो व्यक्तियों से अधिक
अंक प्राप्त किए। Y ने के वल L और W से कम अंक प्राप्त किए। M ने Z से अधिक, लेकिन X से कम अंक प्राप्त
किए। W ने उच्चतम अंक प्राप्त नहीं किए। कितने लोगों ने X से कम अंक प्राप्त किए?

Ans 1. एक

2. कोई नहीं

3. तीन

4. तीन से अधिक

Question ID : 264330131660
Option 1 ID : 264330515741
Option 2 ID : 264330515740
Option 3 ID : 264330515739
Option 4 ID : 264330515742

Status : Answered
Chosen Option : 3
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Q.33 निम्नलिखित में से कौन-सा पद दी गई शृंखला में प्रश्न-चिह्न (?) को प्रतिस्थापित करे गा?
UUW, WWY, YYA, AAC,?

Ans 1. CCE

2. AAF

3. LLM

4. CDJ

Question ID : 26433090154
Option 1 ID : 264330354094
Option 2 ID : 264330354096
Option 3 ID : 264330354095
Option 4 ID : 264330354093

Status : Answered
Chosen Option : 1

Q.34 निम्नांकित शृंखला में पैटर्न को जारी रखने के  लिए प्रश्नचिह्न (?) को किस आकृ ति द्वारा प्रतिस्थापित किया जाना
चाहिए?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330129601
Option 1 ID : 264330507773
Option 2 ID : 264330507771
Option 3 ID : 264330507770
Option 4 ID : 264330507772

Status : Answered
Chosen Option : 3
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Q.35 उस विकल्प का चयन करें  जो पांचवीं संख्या से उसी प्रकार संबंधित है जैसे पहली संख्या दू सरी संख्या से और
तीसरी संख्या चौथी संख्या से संबंधित है।
32 : 5 :: 76 : 13 :: 99 : ?

Ans 1. 13

2. 21

3. 11

4. 18

Question ID : 26433079109
Option 1 ID : 264330310442
Option 2 ID : 264330310443
Option 3 ID : 264330310441
Option 4 ID : 264330310440

Status : Answered
Chosen Option : 4

Q.36 निम्नलिखित में से कौन-सी संख्या, दी गई श्रृंखला में प्रश्नचिह्न (?) को प्रतिस्थापित करे गी?
52, 69, 86, 103, ?, 137

Ans 1. 123

2. 120

3. 109

4. 112

Question ID : 264330102153
Option 1 ID : 264330401080
Option 2 ID : 264330401079
Option 3 ID : 264330401078
Option 4 ID : 264330401077

Status : Answered
Chosen Option : 2

Q.37 सात लोग A, B, C, D, E, F और G उत्तर की तरफ मुंह करके  एक सीधी पंक्ति में बैठे  हुए हैं। D के  बाएं  के वल 1
व्यक्ति बैठा है। A, D के  ठीक बगल में बैठा है। F और D के  बीच में के वल 2 लोग बैठे  हैं। C और G के  बीच में
के वल 3 लोग बैठे  हैं। B, G का निकटतम पड़ोसी नहीं है। E और A के  बीच में के वल 2 लोग बैठे  हैं।

G के  ठीक दाएं  कौन बैठा है?

Ans 1.  A

2. E

3. F

4. D

Question ID : 264330144962
Option 1 ID : 264330568106
Option 2 ID : 264330568105
Option 3 ID : 264330568104
Option 4 ID : 264330568103

Status : Answered
Chosen Option : 2
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Q.38 एक पासे के  विभिन्न फलकों पर 1, 2, 3, 4, 5 और 6 लिखे गए हैं। उसी पासे की तीन अलग-अलग स्थितियाँ नीचे
दर्शाई गई हैं। '1' दर्शाने वाले फलक के  विपरीत फलक पर कौन-सी संख्या है?

Ans 1. 3

2. 6

3. 4

4. 2

Question ID : 26433080732
Option 1 ID : 264330316862
Option 2 ID : 264330316864
Option 3 ID : 264330316863
Option 4 ID : 264330316861

Status : Answered
Chosen Option : 4

Q.39 गणितीय चिह्नों के  उस सही संयोजन का चयन करें  जिसे 'A' के  स्थान पर रखने पर दिया गया समीकरण संतुलित
हो जाएगा।

52 A 12 A 15 A 3 A 6 A 5 A 15
Ans 1. +, ̶ , ÷, ×, =, +

2. ̶ , +, ÷, ×, =, +

3. ̶ , +, ×, =, ÷, +

4. ̶ , +, ÷, =, ×, +

Question ID : 264330144861
Option 1 ID : 264330567701
Option 2 ID : 264330567700
Option 3 ID : 264330567699
Option 4 ID : 264330567702

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.40 निम्नलिखित शब्दों को तार्कि क और अर्थपूर्ण क्रम में दर्शाने वाले सही विकल्प का चयन करें ।
1. पाक्षिक
2. त्रैमासिक
3. मासिक
4. द्वि-वार्षि क
5. वार्षि क

Ans 1. 1, 3, 5, 2, 4

2. 5, 3, 1, 2, 4

3. 5, 1, 3, 4, 2

4. 1, 3, 2, 4, 5

Question ID : 264330132911
Option 1 ID : 264330520703
Option 2 ID : 264330520706
Option 3 ID : 264330520705
Option 4 ID : 264330520704

Status : Answered
Chosen Option : 4

Q.41 इस प्रश्न में, एक कथन के  बाद दो निष्कर्ष दिए गए हैं। दोनों में से कौन-सा/से निष्कर्ष सत्य है/हैं?

कथन: G = Y < U ≤ F > P > T < V

निष्कर्ष: I. F > G
II. F > T

Ans 1. के वल निष्कर्ष I सत्य है ।

2. के वल निष्कर्ष II सत्य है ।

3. निष्कर्ष I और II दोनों सत्य हैं ।

4. न तो निष्कर्ष I और न ही II सत्य है ।

Question ID : 26433057322
Option 1 ID : 264330224272
Option 2 ID : 264330224273
Option 3 ID : 264330224274
Option 4 ID : 264330224275

Status : Answered
Chosen Option : 3

Q.42 दिए गए समीकरण को संतुलित करने के  लिए किन दो संख्याओं  (अंकों को नहीं) को परस्पर बदलना होगा?
28 × 8 ÷ 2 + 13 + 30 = 50

Ans 1. 2, 30

2. 2, 8

3. 8, 28

4. 30, 50

Question ID : 264330129588
Option 1 ID : 264330507721
Option 2 ID : 264330507719
Option 3 ID : 264330507718
Option 4 ID : 264330507720

Status : Not Attempted and
Marked For Review

Chosen Option : --
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Q.43 दिए गए विकल्पों में से उस संख्या का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकती है।
47, 47, 48, 50, ?

Ans 1. 55

2. 51

3. 53

4. 52

Question ID : 264330112662
Option 1 ID : 264330442736
Option 2 ID : 264330442733
Option 3 ID : 264330442735
Option 4 ID : 264330442734

Status : Answered
Chosen Option : 3

Q.44 दिए गए विकल्पों में से उस संख्या का चयन कीजिए जो निम्नलिखित श्रृंखला में प्रश्न चिह्न (?) के  स्‍थान पर आ
सकती है।
73, 70, 64, 55, ?

Ans 1. 46

2. 45

3. 43

4. 42

Question ID : 264330112673
Option 1 ID : 264330442779
Option 2 ID : 264330442777
Option 3 ID : 264330442780
Option 4 ID : 264330442778

Status : Answered
Chosen Option : 3

Q.45 किसी हॉल की लंबाई और चौड़ाई क्रमशः 16 m और 13 m है। एक कु त्ता हड्डी पकड़ने के  लिए एक बार चारों
दीवारों के  अनुदिश दौड़ता है। कु त्ता कु ल कितनी दू री तय करता है?

Ans 1. 58 m

2. 32 m

3. 29 m

4. 42 m

Question ID : 264330132105
Option 1 ID : 264330517518
Option 2 ID : 264330517516
Option 3 ID : 264330517517
Option 4 ID : 264330517515

Status : Answered
Chosen Option : 1
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Q.46 तीन कथनों के  बाद I, II, III और IV से संख्‍यांकित चार निष्कर्ष दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे
सामान्य रूप से ज्ञात तथ्यों से भिन्न प्रतीत होते हों, तय करें  कि दिए गए निष्कर्षों में से कौन सा/से निष्कर्ष कथनों
का तार्कि क रूप से अनुसरण करता है/करते हैं।

कथन:
सभी लैपटॉप, डेस्कटॉप हैं।
सभी डेस्कटॉप, प्रिं टर हैं।
कु छ प्रिं टर, मॉनीटर हैं।
निष्कर्ष:
I. कु छ लैपटॉप, मॉनीटर हैं।
II. कु छ मॉनीटर, डेस्कटॉप हैं।
III. सभी लैपटॉप, प्रिं टर हैं।
IV. कु छ मॉनीटर, प्रिं टर हैं।

Ans 1. के वल निष्कर्ष I और II अनुसरण करते हैं

2. के वल निष्कर्ष I और IV अनुसरण करते हैं

3. के वल निष्कर्ष III और IV अनुसरण करते हैं

4. के वल निष्कर्ष II और III अनुसरण करते हैं

Question ID : 26433097232
Option 1 ID : 264330381625
Option 2 ID : 264330381628
Option 3 ID : 264330381627
Option 4 ID : 264330381626

Status : Answered
Chosen Option : 3

Q.47 तीन कथनों के  बाद दो निष्कर्ष I और II दिए गए हैं। कथनों को सत्य मानते हुए, भले ही वे सामान्य रूप से ज्ञात
तथ्यों से भिन्न प्रतीत होते हों, निर्णय लीजिए कि कौन-सा/से निष्कर्ष कथनों का तार्कि क रूप से अनुसरण करता है/
करते हैं।
कथन:
सभी H, G हैं।
सभी V, H हैं।
कु छ V, I हैं।
निष्कर्ष:
I. कम से कम कु छ G, I हैं।
II. सभी I के  H होने की संभावना है।

Ans 1. के वल निष्कर्ष I अनुसरण करता है

2. निष्कर्ष I और II दोनों अनुसरण करते हैं

3. या तो निष्कर्ष I अनुसरण करता है  या II अनुसरण करता है

4. न तो निष्कर्ष I अनुसरण करता है  और न ही II अनुसरण करता है

Question ID : 26433081303
Option 1 ID : 264330319057
Option 2 ID : 264330319060
Option 3 ID : 264330319058
Option 4 ID : 264330319059

Status : Answered
Chosen Option : 1
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Q.48 उस शब्द-युग्म का चयन करें  जो नीचे दिए गए शब्दों के  युग्म में व्यक्त किए गए संबंध के  समान संबंध का सबसे
अच्छा निरूपण करता है।
(शब्दों को अर्थपूर्ण अंग्रेजी शब्दों के  रूप में माना जाना चाहिए और शब्द में अक्षरों की संख्या/व्यंजन/स्वरों की
संख्या के  आधार पर एक दू सरे  से संबंधित नहीं होना चाहिए)

माल : स्टॉक

Ans 1. संगीतकार : संगीत

2. सामग्री : उपभोक्ता

3. दंगाई : उग्र भीड़

4. लोग : अपार्टमेंट

Question ID : 264330144913
Option 1 ID : 264330567909
Option 2 ID : 264330567910
Option 3 ID : 264330567908
Option 4 ID : 264330567907

Status : Answered
Chosen Option : 3

Q.49 13 जनवरी 2021 से 23 अगस्त 2021 तक दिनों की संख्या की गणना करें  (दोनों दिन शामिल करके )?

Ans 1. 225

2. 227

3. 223

4. 221

Question ID : 264330144944
Option 1 ID : 264330568032
Option 2 ID : 264330568031
Option 3 ID : 264330568033
Option 4 ID : 264330568034

Status : Not Answered
Chosen Option : --

Q.50 दिए गए समीकरण को संतुलित करने के  लिए किन दो संख्याओं  (अंकों को नहीं) को परस्पर बदलना होगा?
13 × 4 ÷ 26 + 15 – 18 = 5

Ans 1. 18, 26

2. 15, 5

3. 15, 18

4. 13, 5

Question ID : 264330129585
Option 1 ID : 264330507707
Option 2 ID : 264330507709
Option 3 ID : 264330507708
Option 4 ID : 264330507706

Status : Not Answered
Chosen Option : --

Section : General Awareness
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Q.1 _________ ने _________ में दू सरे  ओलंपिक खेलों की मेज़बानी की थी?

Ans 1. फ्रांस, 1900

2. यूएसए, 1900

3. जापान, 1900

4. इंग्लैंड, 1900

Question ID : 264330110360
Option 1 ID : 264330433717
Option 2 ID : 264330433718
Option 3 ID : 264330433720
Option 4 ID : 264330433719

Status : Answered
Chosen Option : 3

Q.2 मार्च 2023 तक प्राप्‍त जानकारी के  अनुसार, कें द्रीय युवा कार्यक्रम और खेल मंत्री कौन हैं?

Ans 1. अनुराग ठाकु र

2. एस. जयशंकर

3. किरे न रिजिजू

4. स्मृति ईरानी

Question ID : 264330165215
Option 1 ID : 264330647961
Option 2 ID : 264330647959
Option 3 ID : 264330647960
Option 4 ID : 264330647962

Status : Answered
Chosen Option : 1

Q.3 ‘अब्बा: गॉड्स ग्रेटेस्ट गिफ्ट टू  अस' किस महान संगीतकार के  पुत्रों द्वारा लिखा गया था?

Ans 1. अली अकबर खान

2. अमजद अली खान

3. आमिर खान

4. बिस्मिल्लाह खान

Question ID : 26433064249
Option 1 ID : 264330251588
Option 2 ID : 264330251590
Option 3 ID : 264330251591
Option 4 ID : 264330251589

Status : Answered
Chosen Option : 4

Q.4 'द अनफॉरगेटेबल्स' किस ग़ज़ल गायक के  अर्ध-शास्त्रीय संगीत का संग्रह था?

Ans 1. तलत महमूद

2. मल्लिका पुखराज

3. मेहदी हसन

4. जगजीत सिं ह

Question ID : 26433064243
Option 1 ID : 264330251565
Option 2 ID : 264330251567
Option 3 ID : 264330251566
Option 4 ID : 264330251564

Status : Answered
Chosen Option : 4
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Q.5 भारत की भौतिक विशेषताओं  के  संदर्भ में, 'कयाल' _________ हैं।

Ans 1. अप्रवाही जल

2. पहाड़ियाँ

3. पर्वतीय दर्रे

4. घाटियाँ

Question ID : 264330166800
Option 1 ID : 264330654235
Option 2 ID : 264330654238
Option 3 ID : 264330654237
Option 4 ID : 264330654236

Status : Not Answered
Chosen Option : --

Q.6 हड़प्पा नगरों के  निम्नलिखित समूहों में से किस समूह में अग्निवेदियां पाई गई हैं?

Ans 1. कालीबंगा और लोथल

2. मोहनजोदड़ो और हड़प्पा

3. बनावली और चन्हुदड़ो

4. मोहनजोदड़ो और धोलावीरा

Question ID : 264330141809
Option 1 ID : 264330555558
Option 2 ID : 264330555557
Option 3 ID : 264330555555
Option 4 ID : 264330555556

Status : Answered
Chosen Option : 3

Q.7 भारत में 1960 से 1980 के  दशक में 'परमिट लाइसेंस राज' का प्रमुख उद्देश्य क्या था?

Ans 1. सरकार द्वारा के वल विदेशी कं पनियों को भारत में माल/वस्‍तुएं  बेचने की अनुमति देना

2. सरकार द्वारा राष्ट्रीयकृ त बैंकों को निजी कं पनियों को ऋण देने की अनुमति देना

3. सरकार द्वारा सार्वजनिक क्षेत्र के  उपक्रमों को वस्‍तुओं का उत्पादन करने की अनुमति देना

4. सरकार द्वारा निजी कं पनियों को वस्‍तुएं  बनाने की अनुमति देना

Question ID : 264330111745
Option 1 ID : 264330439067
Option 2 ID : 264330439068
Option 3 ID : 264330439066
Option 4 ID : 264330439065

Status : Answered
Chosen Option : 4

Q.8 1927 में डॉ. बी. आर. आं बेडकर द्वारा निम्नलिखित में से कौन-सा सत्याग्रह शुरू किया गया था?

Ans 1. महाड़ सत्याग्रह

2. नासिक मंदिर सत्याग्रह

3. धरासन सत्याग्रह

4. मुलशी सत्याग्रह

Question ID : 264330111401
Option 1 ID : 264330437692
Option 2 ID : 264330437690
Option 3 ID : 264330437691
Option 4 ID : 264330437689

Status : Answered
Chosen Option : 2
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Q.9 हॉर्नबिल महोत्सव के  संबंध में निम्नलिखित में से कौन-से कथन सत्य हैं?
A. हॉर्नबिल महोत्सव उत्तर-पूर्वी राज्य नागालैंड में मनाया जाता है।
B. यह महोत्सव जनवरी के  महीने में  मनाया जाता है।
C. इस महोत्सव के  नाम की व्युत्पत्ति इस राज्य की लोककथाओं में प्रमुखता से वर्णि त हॉर्नबिल नामक एक पक्षी के
नाम से हुई है।

Ans 1. A और C दोनों

2. A, B और C

3. B और C दोनों

4. A और B दोनों

Question ID : 264330114559
Option 1 ID : 264330450323
Option 2 ID : 264330450321
Option 3 ID : 264330450322
Option 4 ID : 264330450324

Status : Answered
Chosen Option : 2

Q.10 इंडोनेशिया में जन्मे अमेरिकी कोशिकानुवंशिकी विज्ञानी जो हिन तजियो (Joe Hin Tjio) ने 1956 में घोषणा की
कि मानव गुणसूत्रों की सही संख्या __________ है।

Ans 1. 40

2. 46

3. 35

4. 49

Question ID : 264330113468
Option 1 ID : 264330445958
Option 2 ID : 264330445959
Option 3 ID : 264330445957
Option 4 ID : 264330445960

Status : Answered
Chosen Option : 2

Q.11 रंगास्वामी कप किस खेल से संबंधित है?

Ans 1. बास्के टबाल

2. हॉकी

3. फु टबॉल

4. वालीबाल

Question ID : 264330110329
Option 1 ID : 264330433596
Option 2 ID : 264330433595
Option 3 ID : 264330433594
Option 4 ID : 264330433593

Status : Answered
Chosen Option : 2
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Q.12 निम्नलिखित में से किसे खाद्य में एक रासायनिक खतरा माना जाता है?

Ans 1. पत्थर

2. रे त

3. कीटनाशक अवशेष

4. आभूषण

Question ID : 264330131705
Option 1 ID : 264330515919
Option 2 ID : 264330515922
Option 3 ID : 264330515921
Option 4 ID : 264330515920

Status : Answered
Chosen Option : 3

Q.13 ध्रुवों और भूमध्य रे खा के  पास क्षोभमंडल की ऊँ चाई क्रमशः कितनी है?

Ans 1. 16 km और 6 km

2. 4 km और 16 km

3. 8 km और 18 km

4. 18 km और 8 km

Question ID : 264330117619
Option 1 ID : 264330462504
Option 2 ID : 264330462503
Option 3 ID : 264330462501
Option 4 ID : 264330462502

Status : Answered
Chosen Option : 2

Q.14 हिं दू  पौराणिक कथाओं के  अनुसार गुड़ी पड़वा उत्सव में गुड़ी का क्या अर्थ है?

Ans 1. शक्ति का प्रतीक

2. विजय का प्रतीक

3. सद्भाव का प्रतीक

4. शांति का प्रतीक

Question ID : 26433072645
Option 1 ID : 264330284842
Option 2 ID : 264330284840
Option 3 ID : 264330284841
Option 4 ID : 264330284843

Status : Answered
Chosen Option : 1

Q.15 वर्ष 2011 की जनगणना के  अनुसार भारत की साक्षरता दर क्या है?

Ans 1. 82.14%

2. 16.68%

3. 65.46%

4. 72.98%

Question ID : 264330166815
Option 1 ID : 264330654295
Option 2 ID : 264330654298
Option 3 ID : 264330654297
Option 4 ID : 264330654296

Status : Answered
Chosen Option : 4
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Q.16 निम्नलिखित में से किसे लोक नृत्य के  लिए पद्म श्री 2023 से सम्मानित किया गया है?

Ans 1. रानी मचैया

2. कृ ष्णा पटेल

3. शांति परमार

4. अजय कु मार मंडावी

Question ID : 264330157013
Option 1 ID : 264330615428
Option 2 ID : 264330615430
Option 3 ID : 264330615429
Option 4 ID : 264330615427

Status : Answered
Chosen Option : 1

Q.17 शतरंज का एकमात्र ऐसा मोहरा कौन-सा है, जो L आकार में किसी भी वर्ग में जा सकता है?

Ans 1. घोड़ा

2. वज़ीर

3. राजा

4. हाथी

Question ID : 264330119288
Option 1 ID : 264330467441
Option 2 ID : 264330467439
Option 3 ID : 264330467442
Option 4 ID : 264330467440

Status : Answered
Chosen Option : 1

Q.18 अनिं दिता नियोगी अनाम ने निम्नलिखित में से किस श्रेणी में राष्ट्रीय नृत्य शिरोमणि पुरस्कार प्राप्त किया?

Ans 1. कथक

2. मणिपुरी

3. भरतनाट्यम

4. कु चिपुड़ी

Question ID : 264330157014
Option 1 ID : 264330615433
Option 2 ID : 264330615434
Option 3 ID : 264330615432
Option 4 ID : 264330615431

Status : Answered
Chosen Option : 2

Q.19 निम्नलिखित में से किस स्थिति में, विशेषकर प्रारंभिक गर्भावस्था के  दौरान, आयोडीन और थायराइड हार्मोन की
कमी के  कारण गंभीर शारीरिक और मानसिक मंदता हो जाती है?

Ans 1. प्राकगर्भाक्षेपक (Preeclampsia)

2. आविषद्रव्यता (Toxoplasmosis)

3. अवटुवामनता (Cretinism)

4. उपदंश (Syphilis)

Question ID : 264330113465
Option 1 ID : 264330445947
Option 2 ID : 264330445948
Option 3 ID : 264330445946
Option 4 ID : 264330445945

Status : Answered
Chosen Option : 1
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Q.20 एनी बेसेंट की 'होम रूल लीग' भारत के  निम्नलिखित में से किस स्थान पर कें द्रित थी?

Ans 1. बॉम्बे

2. बनारस

3. कलकत्ता

4. मद्रास

Question ID : 264330165395
Option 1 ID : 264330648662
Option 2 ID : 264330648660
Option 3 ID : 264330648661
Option 4 ID : 264330648659

Status : Answered
Chosen Option : 4

Q.21 निम्नलिखित में से किस अनुच्छेद के  तहत 'समान न्याय और मुफ्त कानूनी सहायता' प्रदान करने का प्रावधान है?

Ans 1. अनुच्छेद 39 A 

2. अनुच्छेद 48 A 

3. अनुच्छेद 43 B

4. अनुच्छेद 43 A 

Question ID : 264330112780
Option 1 ID : 264330443205
Option 2 ID : 264330443208
Option 3 ID : 264330443207
Option 4 ID : 264330443206

Status : Answered
Chosen Option : 1

Q.22 एशियाई खेलों की मेजबानी करने वाला पहला देश कौन-सा था?

Ans 1. जापान

2. भारत

3. चीन

4. श्रीलंका

Question ID : 264330110328
Option 1 ID : 264330433591
Option 2 ID : 264330433589
Option 3 ID : 264330433590
Option 4 ID : 264330433592

Status : Answered
Chosen Option : 1

Q.23 ऊर्जा संरक्षण (संशोधन) विधेयक, 2022 में निम्नलिखित में से क्या शामिल नहीं है?

Ans 1. नामित उपभोक्ताओं के  लिए एक गैर-जीवाश्म-ईंधन जनादेश

2. ऊर्जा खपत मानकों के  दायरे  को कम करना

3. कार्बन क्रे डिट ट्रेडिं ग योजना की स्थापना

4. ब्यूरो ऑफ एनर्जी एफिशिएंसी (BEE) गवर्निं ग काउं सिल के  विस्तार का निर्णय

Question ID : 264330158488
Option 1 ID : 264330621311
Option 2 ID : 264330621314
Option 3 ID : 264330621312
Option 4 ID : 264330621313

Status : Answered
Chosen Option : 1
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Q.24 भारत की जनगणना (2011) के  अनुसार, राज्यों के  किस समूह में ग्रामीण जनसंख्या का प्रतिशत बहुत अधिक है?

Ans 1. गोवा और ओडिशा

2. राजस्थान और गुजरात

3. पंजाब और हरियाणा

4. बिहार और सिक्किम

Question ID : 264330119922
Option 1 ID : 264330469966
Option 2 ID : 264330469965
Option 3 ID : 264330469964
Option 4 ID : 264330469963

Status : Answered
Chosen Option : 2

Q.25 मुद्रा आपूर्ति  की अवधारणा में, M4 ________ को संदर्भि त करता है।

Ans 1. M1+ बैंकों में जनता की सावधि जमाराशियां

2. M1 + डाकघर बचत जमाराशियां

3. जनता के  पास उपलब्ध मुद्रा

4. M3 + कु ल डाकघर जमाराशियां

Question ID : 264330109977
Option 1 ID : 264330432187
Option 2 ID : 264330432185
Option 3 ID : 264330432188
Option 4 ID : 264330432186

Status : Answered
Chosen Option : 1

Q.26 संश्लिष्ट फाइबर, प्रत्यास्थलक, पॉलिमर और पृष्‍ठसक्रियक मध्यवर्ती सभी ________ उद्योगों के  उपसमूह हैं।

Ans 1. टेक्सटाइल

2. पेट्रोके मिकल

3. चीनी

4. औषध

Question ID : 264330163216
Option 1 ID : 264330640176
Option 2 ID : 264330640175
Option 3 ID : 264330640177
Option 4 ID : 264330640178

Status : Answered
Chosen Option : 1

Q.27 राज्य की विधान सभा के  समक्ष प्रतिवर्ष वार्षि क वित्तीय विवरण कौन प्रस्तुत करवाएगा?

Ans 1. उपमुख्यमंत्री

2. मुख्यमंत्री

3. राष्ट्रपति

4. राज्यपाल

Question ID : 264330130790
Option 1 ID : 264330512274
Option 2 ID : 264330512271
Option 3 ID : 264330512272
Option 4 ID : 264330512273

Status : Answered
Chosen Option : 4
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Q.28 भारत का सबसे बड़ा स्तूप निम्नलिखित में से कौन-सा है?

Ans 1. महा स्तूप

2. के सरिया स्तूप

3. सांची स्तूप

4. शांति स्तूप

Question ID : 26433066553
Option 1 ID : 264330260736
Option 2 ID : 264330260739
Option 3 ID : 264330260738
Option 4 ID : 264330260737

Status : Answered
Chosen Option : 3

Q.29 निम्नलिखित में से कौन-सा प्रोटोजोआ नहीं है?

Ans 1. अमीबा

2. यूग्लीना

3. प्लाज्मोडियम

4. स्काइफा

Question ID : 264330111879
Option 1 ID : 264330439602
Option 2 ID : 264330439603
Option 3 ID : 264330439604
Option 4 ID : 264330439601

Status : Answered
Chosen Option : 3

Q.30 सत्रीया के  एकांकी नाटक को क्या कहते हैं?

Ans 1. एकम नाट

2. अंकिया नाट

3. विशेषम नाट

4. अनंत नाट

Question ID : 264330109274
Option 1 ID : 264330429376
Option 2 ID : 264330429374
Option 3 ID : 264330429375
Option 4 ID : 264330429373

Status : Not Answered
Chosen Option : --

Q.31 'द माउंटेन ऑफ लाइट' उपन्यास की लेखिका कौन हैं?

Ans 1. ज़रीन खान

2. अनुकृ ति उपाध्याय

3. मीना कं दासामी

4. इंदु सुंदरे सन

Question ID : 26433071715
Option 1 ID : 264330281287
Option 2 ID : 264330281284
Option 3 ID : 264330281285
Option 4 ID : 264330281286

Status : Not Answered
Chosen Option : --
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Q.32 निम्नलिखित रसायनों से मेथिल क्लोराइड के  रासायनिक सूत्र की पहचान कीजिए।

Ans 1. CH3Cl

2. C2H6

3. CH4

4. C2H2

Question ID : 264330137302
Option 1 ID : 264330537837
Option 2 ID : 264330537838
Option 3 ID : 264330537835
Option 4 ID : 264330537836

Status : Answered
Chosen Option : 1

Q.33 निम्नलिखित में से किस सुल्तान ने सामंतों की शक्ति को कमजोर करने के  लिए विनियमनों की एक शृंखला तैयार
की थी?

Ans 1. बलबन

2. इल्तुतमिश

3. मुहम्मद बिन तुगलक

4. अलाउद्दीन खिलजी

Question ID : 264330109007
Option 1 ID : 264330428306
Option 2 ID : 264330428305
Option 3 ID : 264330428307
Option 4 ID : 264330428308

Status : Answered
Chosen Option : 4

Q.34 ‘आई नो व्हाई द के ज्ड बर्ड सिंग्स (I Know Why the Caged Bird Sings)’ ________ की आत्मकथा है।

Ans 1. मिशेल ओबामा

2. माया एंजेलो

3. पैट्रीशिया लॉकवुड

4. डॉली अल्डरटन

Question ID : 264330144841
Option 1 ID : 264330567619
Option 2 ID : 264330567620
Option 3 ID : 264330567621
Option 4 ID : 264330567622

Status : Not Answered
Chosen Option : --

Q.35 1803 में समीकरण C = KPgas किसके  द्वारा प्रतिपादित किया गया था?

Ans 1. एडम मैरियट

2. रॉबर्ट बॉयल

3. जैक्स चार्ल्स

4. विलियम हे नरी

Question ID : 264330141687
Option 1 ID : 264330555068
Option 2 ID : 264330555069
Option 3 ID : 264330555070
Option 4 ID : 264330555067

Status : Not Answered
Chosen Option : --
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Q.36 भारत के  अधिकांश शास्त्रीय नृत्य रूपों की उत्पत्ति _________ से हुई है।

Ans 1. यजुर्वेद

2. अथर्ववेद

3. अर्थशास्त्र

4. नाट्यशास्त्र

Question ID : 264330109273
Option 1 ID : 264330429371
Option 2 ID : 264330429369
Option 3 ID : 264330429370
Option 4 ID : 264330429372

Status : Answered
Chosen Option : 4

Q.37 1990-91 के  दौरान, इस्पात के  उत्पादन में सार्वजनिक क्षेत्र और निजी क्षेत्र की हिस्सेदारी क्रमशः __________
थी।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433064529
Option 1 ID : 264330252708
Option 2 ID : 264330252711
Option 3 ID : 264330252710
Option 4 ID : 264330252709

Status : Answered
Chosen Option : 1

Q.38 निम्नलिखित में से किसने 641 ई. में चीनी दरबार में अपना दू त भेजा था?

Ans 1. नरसिं हवर्मन द्वितीय

2. नरसिं हवर्मन प्रथम

3. पुलके शिन प्रथम

4. हर्षवर्धन

Question ID : 264330112144
Option 1 ID : 264330440662
Option 2 ID : 264330440663
Option 3 ID : 264330440664
Option 4 ID : 264330440661

Status : Not Answered
Chosen Option : --
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Q.39 क्लोरोफ्लोरोकार्बन (CFC) के  बारे  में निम्नलिखित में से कौन-सा दावा सही है?

Ans 1. CFC का उपयोग ओजोन परत के  सुधारक के  रूप में किया जाता है

2. CFC का उपयोग प्रशीतक के  रूप में किया जाता है

3. CFC का उपयोग क्षोभमंडल के  सुधारक के  रूप में किया जाता है

4. CFC का उपयोग हवाई जहाजों के  लिए ईंधन के  रूप में किया जाता है

Question ID : 264330131721
Option 1 ID : 264330515984
Option 2 ID : 264330515986
Option 3 ID : 264330515983
Option 4 ID : 264330515985

Status : Answered
Chosen Option : 2

Q.40 भारतीय राष्ट्रीय कांग्रेस के  पहले वार्षि क अधिवेशन के  अध्यक्ष कौन थे?

Ans 1. दादाभाई नौरोजी (Dadabhai Naoroji)

2. ए.ओ. ह्यू म (AO Hume)

3. सुरें द्र नाथ बनर्जी (Surendra Nath Banerjee)

4. डब्ल्यू.सी. बनर्जी (WC Banerjee)

Question ID : 264330112180
Option 1 ID : 264330440806
Option 2 ID : 264330440808
Option 3 ID : 264330440805
Option 4 ID : 264330440807

Status : Answered
Chosen Option : 2

Q.41 निम्नलिखित में से कौन-सा वेद कृ ष्ण और शुक्ल दो पाठ भेदों में उपलब्ध है, और उसमें सार्वजनिक या व्यक्तिगत
रूप से की जाने वाली अनुष्ठानों विधियों का वर्णन है?

Ans 1. अथर्ववेद

2. सामवेद

3. ऋग्वेद

4. यजुर्वेद

Question ID : 264330165334
Option 1 ID : 264330648415
Option 2 ID : 264330648416
Option 3 ID : 264330648417
Option 4 ID : 264330648418

Status : Not Answered
Chosen Option : --
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Q.42 मुद्रा आपूर्ति  के  संदर्भ में सही कथनों की पहचान कीजिए।
(i) मुद्रा आपूर्ति , किसी विशेष समय में जनता द्वारा रखे गए धन की कु ल मात्रा को संदर्भि त करती है।
(ii) मुद्रा आपूर्ति  एक प्रवाह अवधारणा है।
(iii) M1, मुद्रा आपूर्ति  का सबसे तरल उपाय है।

Ans 1. के वल (ii) और (iii)

2. के वल (i)

3. के वल (ii)

4. के वल (i) और (iii)

Question ID : 264330109092
Option 1 ID : 264330428648
Option 2 ID : 264330428645
Option 3 ID : 264330428647
Option 4 ID : 264330428646

Status : Not Answered
Chosen Option : --

Q.43 द्रोणाचार्य पुरस्कार किस वर्ष शुरू किया गया था?

Ans 1. 1990 में

2. 1985 में

3. 1980 में

4. 1961 में

Question ID : 264330110366
Option 1 ID : 264330433742
Option 2 ID : 264330433741
Option 3 ID : 264330433744
Option 4 ID : 264330433743

Status : Not Answered
Chosen Option : --

Q.44 जनवरी 2023 तक प्राप्‍त जानकारी के  अनुसार, हिमाचल प्रदेश के  मुख्यमंत्री कौन हैं?

Ans 1. सुखविं दर सिं ह सुक्खू

2. अशोक गहलोत

3. पुष्कर सिं ह धामी

4. भूपेश बघेल

Question ID : 264330165223
Option 1 ID : 264330647993
Option 2 ID : 264330647994
Option 3 ID : 264330647992
Option 4 ID : 264330647991

Status : Answered
Chosen Option : 1
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Q.45 2011 की जनगणना के  अनुसार, कु ल वैश्विक आबादी की कितने प्रतिशत जनसंख्या भारत में है?

Ans 1. 14.68%

2. 17.5%

3. 20.32%

4. 15.45%

Question ID : 264330119911
Option 1 ID : 264330469920
Option 2 ID : 264330469921
Option 3 ID : 264330469919
Option 4 ID : 264330469922

Status : Answered
Chosen Option : 1

Q.46 उस तत्व की पहचान कीजिए जिसका परमाणु क्रमांक 7 है।

Ans 1. ऑक्सीजन

2. कै ल्शियम

3. नाइट्रोजन

4. क्लोरीन

Question ID : 264330134864
Option 1 ID : 264330528392
Option 2 ID : 264330528391
Option 3 ID : 264330528394
Option 4 ID : 264330528393

Status : Answered
Chosen Option : 4

Q.47 रावी, चिनाब और झेलम किस नदी की सहायक नदियां हैं?

Ans 1. तुंगभद्रा

2. सिंधु

3. कावेरी

4. कृ ष्णा

Question ID : 264330169996
Option 1 ID : 264330666659
Option 2 ID : 264330666661
Option 3 ID : 264330666660
Option 4 ID : 264330666662

Status : Answered
Chosen Option : 2

Q.48 संरचनात्मक भूविज्ञान किससे संबंधित है?

Ans 1. मृदा के  घटकों और उसकी रासायनिक प्रकृ ति

2. ज्वालामुखी निर्माण के  कारण

3. शैल संरचनाओं के  विकास के  रूप, वर्गीकरण, तंत्र और कारण

4. शैलों की आयु

Question ID : 264330111916
Option 1 ID : 264330439751
Option 2 ID : 264330439752
Option 3 ID : 264330439750
Option 4 ID : 264330439749

Status : Answered
Chosen Option : 4
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Q.49 फरवरी 2023 में, नीति आयोग के  नए मुख्य कार्यकारी अधिकारी के  रूप में कार्यभार किसने ग्रहण किया?

Ans 1. बी.वी.आर. सुब्रह्मण्यम

2. टी.वी. सोमनाथन

3. अजय कु मार भल्ला

4. अमिताभ कांत

Question ID : 264330158507
Option 1 ID : 264330621388
Option 2 ID : 264330621389
Option 3 ID : 264330621390
Option 4 ID : 264330621387

Status : Answered
Chosen Option : 1

Q.50 भारत में हवाई परिवहन निम्नलिखित में से किस वर्ष में शुरू किया गया था?

Ans 1. 1932

2. 1948

3. 1954

4. 1911

Question ID : 264330163223
Option 1 ID : 264330640204
Option 2 ID : 264330640205
Option 3 ID : 264330640206
Option 4 ID : 264330640203

Status : Not Answered
Chosen Option : --

Q.1 Select the option that expresses the following sentence in indirect speech.

The teacher said, “The university will be closed tomorrow.”
Ans 1. The teacher said that the university would be closed the day after.

2. The teacher asked that the university will be closed the day after.

3. The teacher said that the university will be closing tomorrow.

4. The teacher said that the university would be closed tomorrow.

Question ID : 264330163353
Option 1 ID : 264330640705
Option 2 ID : 264330640704
Option 3 ID : 264330640706
Option 4 ID : 264330640703

Status : Answered
Chosen Option : 1

Section : English Language and Comprehension
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Q.2 Select the correct option to substitute the underlined segment in the given sentence. If
no substitution is required, select ‘No substitution’.

Shreya prefers ice-cream than chocolates.
Ans 1. to

2. No substitution

3. over

4. from

Question ID : 26433090825
Option 1 ID : 264330356722
Option 2 ID : 264330356724
Option 3 ID : 264330356721
Option 4 ID : 264330356723

Status : Answered
Chosen Option : 1

Q.3 Select the option that expresses the given sentence in reported speech.
He said, “I have forgotten the combination of my safe”.

Ans 1. He said that he had been forgotten the combination of his safe.

2. He said that he has forgotten the combination of his safe.

3. He said that he has been forgotten the combination of his safe.

4. He said that he had forgotten the combination of his safe.

Question ID : 264330137435
Option 1 ID : 264330538370
Option 2 ID : 264330538367
Option 3 ID : 264330538369
Option 4 ID : 264330538368

Status : Answered
Chosen Option : 4

Q.4 In the following questions a statement has been given with highlighted text. Select the
options that can replace the text with correct idiom or phrase.
He is too afraid of heights after the bungee jumping experience.

Ans 1. Pour out one’s heart

2. Break the bank

3. Once bitten twice shy

4. Light at the end of tunnel

Question ID : 264330120758
Option 1 ID : 264330473250
Option 2 ID : 264330473247
Option 3 ID : 264330473248
Option 4 ID : 264330473249

Status : Marked For Review
Chosen Option : 1
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Q.5 Select the most appropriate ANTONYM of the underlined word.
When William gets angry, he starts to act like an imbecile.

Ans 1. Pleasing

2. Cheerful

3. Intelligent

4. Fierce

Question ID : 264330140492
Option 1 ID : 264330550347
Option 2 ID : 264330550350
Option 3 ID : 264330550349
Option 4 ID : 264330550348

Status : Answered
Chosen Option : 3

Q.6 Parts of the following sentence have been given as options. Select the option that
contains an error.
He is enjoying the programme very much. He want to stay till the end.

Ans 1. He is enjoying

2. stay till the end

3. He want to

4. the program very much

Question ID : 264330100236
Option 1 ID : 264330393517
Option 2 ID : 264330393520
Option 3 ID : 264330393519
Option 4 ID : 264330393518

Status : Answered
Chosen Option : 3

Q.7 Select the option that expresses the given sentence in active voice.
The cake had been baked by Sarah.

Ans 1. Sarah bakes the cake.

2. Sarah had baked the cake.

3. Sarah has been baking the cake.

4. Sarah will bake the cake.

Question ID : 264330164368
Option 1 ID : 264330644684
Option 2 ID : 264330644685
Option 3 ID : 264330644683
Option 4 ID : 264330644686

Status : Answered
Chosen Option : 2
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Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

In October, / they will have lived / in San Francisco /for five years.
Ans 1. In October

2. in San Francisco

3. for five years

4. they will have lived

Question ID : 264330102133
Option 1 ID : 264330401000
Option 2 ID : 264330400997
Option 3 ID : 264330400998
Option 4 ID : 264330400999

Status : Answered
Chosen Option : 4

Q.9 Select the option that expresses the given sentence in active voice.

The data was not analysed by the researchers carefully.
Ans 1. The researchers have not analysed the data carefully.

2. The researchers had not analysed the data carefully.

3. The researchers did not analyse the data carefully.

4. The researchers do not analyse the data carefully.

Question ID : 264330164187
Option 1 ID : 264330643995
Option 2 ID : 264330643996
Option 3 ID : 264330643997
Option 4 ID : 264330643998

Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option to fill in the blank.
I ________ to the hope that he’s still alive.

Ans 1. grab

2. take

3. hold

4. cling

Question ID : 264330168336
Option 1 ID : 264330660207
Option 2 ID : 264330660209
Option 3 ID : 264330660208
Option 4 ID : 264330660210

Status : Answered
Chosen Option : 3
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Q.11 Select the option that expresses the given sentence in active voice.

The car is being driven by a young boy.
Ans 1. A young boy drives the car.

2. A young boy was driving the car.

3. A young boy has driven the car.

4. A young boy is driving the car.

Question ID : 264330164185
Option 1 ID : 264330643990
Option 2 ID : 264330643987
Option 3 ID : 264330643989
Option 4 ID : 264330643988

Status : Answered
Chosen Option : 4

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Arpit and Barkha went /for Zumba / classes these / days.

Ans 1. Arpit and Barkha went

2. days

3. for Zumba

4. classes these

Question ID : 264330139392
Option 1 ID : 264330546015
Option 2 ID : 264330546018
Option 3 ID : 264330546016
Option 4 ID : 264330546017

Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate idiom for the given situation focusing on the underlined
segment.

You are wasting time by arguing just for the sake of argument and that too just the
opposite of what we confirm.

Ans 1. Beat around the bush

2. Play devil’s advocate

3. Throw caution to the wind

4. The devil is in the details

Question ID : 264330163408
Option 1 ID : 264330640911
Option 2 ID : 264330640913
Option 3 ID : 264330640914
Option 4 ID : 264330640912

Status : Answered
Chosen Option : 1
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Q.14 Select the option that expresses the given sentence in indirect speech.
He said, “I have never seen anything like that before”.

Ans 1. He said that he didn’t see anything like that before.

2. He said that he had never seen anything like that before.

3. He said that he has never seen anything like that before.

4. He said that he was never seen anything like that before.

Question ID : 264330139228
Option 1 ID : 264330545448
Option 2 ID : 264330545450
Option 3 ID : 264330545447
Option 4 ID : 264330545449

Status : Answered
Chosen Option : 2

Q.15 Select the option that expresses the given sentence in passive voice.
Open the door for your brother.

Ans 1. Let the door be opened for your brother.

2. Let the door opened for your brother.

3. Let the door be open for your brother.

4. Let the door been opened for your brother.

Question ID : 264330137231
Option 1 ID : 264330537555
Option 2 ID : 264330537558
Option 3 ID : 264330537556
Option 4 ID : 264330537557

Status : Answered
Chosen Option : 1

Q.16 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.The rupee's recent decline is primarily owing to high crude oil prices, a strong dollar
abroad and international capital outflows.
B.The value of the Indian rupee in relation to the US dollar is determined by supply
and demand.
C.If a country imports more than it exports, the demand for the dollar exceeds the
supply, and the domestic currency, such as the Indian rupee, depreciates against the
dollar.
D.When the US dollar is in strong demand, the Indian rupee falls in value, and vice
versa.

Ans 1. BADC

2. BDCA

3. CDBA

4. CABD

Question ID : 26433097523
Option 1 ID : 264330382766
Option 2 ID : 264330382768
Option 3 ID : 264330382765
Option 4 ID : 264330382767

Status : Answered
Chosen Option : 2
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Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Sheetal always became nervous / whenever she gets instructions / from her Physics /
teacher at the lab.

Ans 1. from her Physics

2. whenever she gets instructions

3. Sheetal always became nervous

4. teacher at the lab

Question ID : 26433094750
Option 1 ID : 264330371835
Option 2 ID : 264330371834
Option 3 ID : 264330371833
Option 4 ID : 264330371836

Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate synonym of the given word.
Unique

Ans 1. Distinctive

2. Common

3. Wavy

4. Kind

Question ID : 264330164166
Option 1 ID : 264330643915
Option 2 ID : 264330643916
Option 3 ID : 264330643917
Option 4 ID : 264330643918

Status : Marked For Review
Chosen Option : 3

Q.19 Select the option that expresses the given sentence in passive voice.
Who taught you English?

Ans 1. English taught you who?

2. Who was your English teacher?

3. By whom was English taught to you?

4. By whom was you taught English?

Question ID : 264330134138
Option 1 ID : 264330525575
Option 2 ID : 264330525576
Option 3 ID : 264330525578
Option 4 ID : 264330525577

Status : Answered
Chosen Option : 4
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Q.20 Select the option that expresses the given sentence in reported speech.

“Let there be fresh elections,” the committee proposed.
Ans 1. The committee would propose that the elections should be fresh.

2. The committee proposed that there should be fresh elections.

3. The committee was for fresh elections.

4. The committee suggested to there be conduct fresh elections.

Question ID : 264330164600
Option 1 ID : 264330645583
Option 2 ID : 264330645584
Option 3 ID : 264330645585
Option 4 ID : 264330645586

Status : Answered
Chosen Option : 2

Q.21 Select the most appropriate ANTONYM of the given word.
Generous

Ans 1. Charitable

2. Greedy

3. Altruist

4. Kind

Question ID : 264330168134
Option 1 ID : 264330659411
Option 2 ID : 264330659414
Option 3 ID : 264330659412
Option 4 ID : 264330659413

Status : Answered
Chosen Option : 2

Q.22 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
I asked to my brother to get my air tickets booked.

Ans 1. for my brother get

2. for my brother to get

3. my brother to get

4. to my brother get

Question ID : 264330117258
Option 1 ID : 264330461092
Option 2 ID : 264330461091
Option 3 ID : 264330461090
Option 4 ID : 264330461089

Status : Answered
Chosen Option : 3
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Q.23 Select the most appropriate synonym of the underlined word in the following
sentence.
The disgruntled passengers were discussing the matter with the authorities.

Ans 1. Contented

2. Annoyed

3. Capricious

4. Tortured

Question ID : 264330168125
Option 1 ID : 264330659381
Option 2 ID : 264330659382
Option 3 ID : 264330659380
Option 4 ID : 264330659379

Status : Answered
Chosen Option : 2

Q.24 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
She can’t come for lunch / with you. / She’ll do some / training in the gym.

Ans 1. She can’t come for lunch

2. with you

3. She’ll do some

4. training in the gym

Question ID : 264330120566
Option 1 ID : 264330472507
Option 2 ID : 264330472509
Option 3 ID : 264330472510
Option 4 ID : 264330472508

Status : Answered
Chosen Option : 4

Q.25 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.
S1. Ferdinand Verbiest designed the first working steam-powered vehicle in China in
1672.
A. Locomotive acts was introduced in 1865.
B. It was around 65 cm long for the Chinese emperor.
C. Nicolas Joseph Cugnot has the credit for developing the first automobile in 1769.
D. Richard Trevithick demonstrated the first steam-powered road vehicle.
S6. Pyreolophore is the name of the world’s first internal combustion engine.

Ans 1. CDAB

2. DABC

3. BCDA

4. ADBC

Question ID : 264330117276
Option 1 ID : 264330461163
Option 2 ID : 264330461164
Option 3 ID : 264330461162
Option 4 ID : 264330461161

Status : Answered
Chosen Option : 3
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Q.26 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options.
He is famous / about his research / in the field of / astrophysics.

Ans 1. He is famous

2. in the field of

3. about his research

4. astrophysics.

Question ID : 264330164241
Option 1 ID : 264330644195
Option 2 ID : 264330644197
Option 3 ID : 264330644196
Option 4 ID : 264330644198

Status : Answered
Chosen Option : 3

Q.27 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
They missed their train / because they were waiting /on wrong platform. / They were on
platform 3 instead of platform 8.

Ans 1. On wrong platform

2. They were on platform 3 instead of platform 8

3. Because they were waiting

4. They missed their train

Question ID : 264330122585
Option 1 ID : 264330480465
Option 2 ID : 264330480466
Option 3 ID : 264330480464
Option 4 ID : 264330480463

Status : Answered
Chosen Option : 4

Q.28 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The rural households in many of the developing countries don’t have fully fictional tap
water connections.

Ans 1. don’t have fully functional tap water

2. don’t have fully devotional tap water

3. don’t have fully erosional tap water

4. don’t have fully revisional tap water

Question ID : 264330100994
Option 1 ID : 264330396521
Option 2 ID : 264330396524
Option 3 ID : 264330396523
Option 4 ID : 264330396522

Status : Answered
Chosen Option : 1
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Q.29 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The thief who had been accused for the bank theft was later acquitted because of lack
of evidence.

Ans 1. accusing for the bank theft was

2. accused of the bank theft was

3. accusing of the bank theft was

4. accused in the bank theft was

Question ID : 264330100998
Option 1 ID : 264330396540
Option 2 ID : 264330396539
Option 3 ID : 264330396538
Option 4 ID : 264330396537

Status : Answered
Chosen Option : 2

Q.30 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
He looked at me happily when I interrupted him.

Ans 1. hardly

2. angrily

3. surprisingly

4. suddenly

Question ID : 264330120556
Option 1 ID : 264330472468
Option 2 ID : 264330472467
Option 3 ID : 264330472470
Option 4 ID : 264330472469

Status : Answered
Chosen Option : 2

Q.31 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
She is strictly advised to be on bed for three weeks lest she would fall sick again.

Ans 1. lest she should fall sick again

2. lest she shall fall sick again

3. lest she can fall sick again

4. lest she will fall sick again

Question ID : 264330117271
Option 1 ID : 264330461143
Option 2 ID : 264330461142
Option 3 ID : 264330461141
Option 4 ID : 264330461144

Status : Answered
Chosen Option : 1
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Q.32 Select the most appropriate option that substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

No woman would be pleased if you said that she did not know the difference in good
and bad dressing.

Ans 1. into good and bad

2. among good and bad

3. No substitution required

4. between good and bad

Question ID : 264330101276
Option 1 ID : 264330397649
Option 2 ID : 264330397651
Option 3 ID : 264330397652
Option 4 ID : 264330397650

Status : Answered
Chosen Option : 4

Q.33 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.
Harsha is the tallest than all the other boys in his colony.

Ans 1. than some other boys

2. than any boy

3. no substitution

4. of all the boys

Question ID : 264330132828
Option 1 ID : 264330520400
Option 2 ID : 264330520401
Option 3 ID : 264330520402
Option 4 ID : 264330520399

Status : Marked For Review
Chosen Option : 4

Q.34 Select the option that expresses the following sentence in active voice.
The winner of the competition was announced by them.

Ans 1. They have announced the competition winner.

2. They announced a winner in the competition.

3. They announced the winner of the competition.

4. Announcement of the winner of the competition by them.

Question ID : 264330168111
Option 1 ID : 264330659324
Option 2 ID : 264330659326
Option 3 ID : 264330659325
Option 4 ID : 264330659323

Status : Answered
Chosen Option : 2
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Q.35 Select the option that expresses the given sentence in reported speech.
He asked whether he should lock the car or leave it.

Ans 1. He said, “Shall I locked the car or leave it unlocked?”

2. He said, “Shall I lock the car or leave it unlocked?”

3. He said, “Shall he locks the car or leave it unlocked?”

4. He said, “Shall he locked the car or leave it unlocked?”

Question ID : 264330137438
Option 1 ID : 264330538380
Option 2 ID : 264330538381
Option 3 ID : 264330538379
Option 4 ID : 264330538382

Status : Answered
Chosen Option : 2

Q.36 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Newton found out that the force of gravitation makes the apples fall.
Ans 1. Newton registered that

2. Newton popularised that

3. Newton invented that

4. Newton discovered that

Question ID : 26433093477
Option 1 ID : 264330367134
Option 2 ID : 264330367136
Option 3 ID : 264330367133
Option 4 ID : 264330367135

Status : Answered
Chosen Option : 4

Q.37 Select the most appropriate synonym of the word given in the brackets to fill in the
blank.
Students should be ________ (sincere) in their studies.

Ans 1. serious

2. literal

3. factual

4. legit

Question ID : 264330165024
Option 1 ID : 264330647226
Option 2 ID : 264330647224
Option 3 ID : 264330647223
Option 4 ID : 264330647225

Status : Answered
Chosen Option : 1
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Q.38 The abstract noun form of ‘act’ is ‘action’. Similarly, the abstract noun form of ‘wide’
will be:

Ans 1. wisdom

2. width

3. wideness

4. widespread

Question ID : 264330120525
Option 1 ID : 264330472351
Option 2 ID : 264330472353
Option 3 ID : 264330472352
Option 4 ID : 264330472354

Status : Answered
Chosen Option : 3

Q.39 Select the option that expresses the given sentence in indirect speech.
Riya said to me, “I am happy to see you.”

Ans 1. Riya told me that she was happy to see you.

2. Riya told me that she was happy to see me.

3. Riya told me that she is happy to see you.

4. Riya told me that she is happy to see me.

Question ID : 264330164292
Option 1 ID : 264330644383
Option 2 ID : 264330644385
Option 3 ID : 264330644384
Option 4 ID : 264330644386

Status : Answered
Chosen Option : 2

Q.40 Select the most appropriate synonym of the given word.
Acquisitive

Ans 1. Critical

2. Aspiring

3. Eager

4. Apathetic

Question ID : 264330165244
Option 1 ID : 264330648076
Option 2 ID : 264330648075
Option 3 ID : 264330648078
Option 4 ID : 264330648077

Status : Marked For Review
Chosen Option : 3
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Q.41 Select the most appropriate option to fill in the blank.

MS Dhoni was _________ with a natural talent for cricket.
Ans 1. owned

2. found

3. entrusted

4. endowed

Question ID : 26433098894
Option 1 ID : 264330388231
Option 2 ID : 264330388230
Option 3 ID : 264330388232
Option 4 ID : 264330388229

Status : Answered
Chosen Option : 4

Q.42 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
We have to go / under the books if / we want to pass / the board exams this year.

Ans 1. under the books if

2. We have to go

3. we want to pass

4. the board exams this year

Question ID : 264330139099
Option 1 ID : 264330545004
Option 2 ID : 264330545003
Option 3 ID : 264330545005
Option 4 ID : 264330545006

Status : Answered
Chosen Option : 2

Q.43 Select the most appropriate meaning of the given idiom.
Read between the lines.

Ans 1. Read text in an unknown language

2. Look for implied meaning

3. Misunderstand a message

4. Read a poem

Question ID : 264330168284
Option 1 ID : 264330660006
Option 2 ID : 264330660003
Option 3 ID : 264330660004
Option 4 ID : 264330660005

Status : Answered
Chosen Option : 2
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Q.44 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The list of wedding guests are kept there, in the table.

Ans 1. wedding guests are kept there on

2. wedding guests kept there on

3. wedding guests is kept there, on

4. wedding guests is kept there in

Question ID : 264330117266
Option 1 ID : 264330461121
Option 2 ID : 264330461124
Option 3 ID : 264330461123
Option 4 ID : 264330461122

Status : Answered
Chosen Option : 3

Q.45 Select the most appropriate ANTONYM of the given word.
Modest

Ans 1. Arrogant

2. Generous

3. Humble

4. Unpretentious

Question ID : 264330168136
Option 1 ID : 264330659421
Option 2 ID : 264330659420
Option 3 ID : 264330659419
Option 4 ID : 264330659422

Status : Answered
Chosen Option : 1

Q.46 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
If it will rain tomorrow, I will be on leave.

Ans 1. it doesn’t rain tomorrow

2. it rains tomorrow

3. it will be raining tomorrow

4. it will not rain tomorrow

Question ID : 264330117263
Option 1 ID : 264330461110
Option 2 ID : 264330461109
Option 3 ID : 264330461112
Option 4 ID : 264330461111

Status : Answered
Chosen Option : 2
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Q.47 Select the option that expresses the given sentence in reported speech.
My friend said, “I am going to travel to Europe next month”.

Ans 1. My friend says that he is going to travel to Europe next month.

2. My friend had said that he would travel to Europe the following month.

3. My friend said that he will travel to Europe next month.

4. My friend said that he was going to travel to Europe the following month.

Question ID : 264330137492
Option 1 ID : 264330538587
Option 2 ID : 264330538588
Option 3 ID : 264330538590
Option 4 ID : 264330538589

Status : Answered
Chosen Option : 4

Q.48 Select the most appropriate idiom for the given phrase.

Completely mistaken
Ans 1. Though thick and thin

2. Bite the bullet

3. All wet

4. Hunger pangs

Question ID : 264330157061
Option 1 ID : 264330615617
Option 2 ID : 264330615618
Option 3 ID : 264330615616
Option 4 ID : 264330615615

Status : Answered
Chosen Option : 3

Q.49 Select the most appropriate synonym of the given word.
Anguish

Ans 1. Gain

2. Obtain

3. Restrain

4. Pain

Question ID : 264330168265
Option 1 ID : 264330659929
Option 2 ID : 264330659930
Option 3 ID : 264330659927
Option 4 ID : 264330659928

Status : Answered
Chosen Option : 4
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Q.50 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.

We are expecting a ________ narrative from the writer about his childhood.
(intelligible)

Ans 1. written

2. lucid

3. historical

4. disorderly

Question ID : 264330163275
Option 1 ID : 264330640411
Option 2 ID : 264330640412
Option 3 ID : 264330640413
Option 4 ID : 264330640414

Status : Answered
Chosen Option : 2

Q.51 Select the most appropriate option to fill in the blank.

Although he is a calm person most of the time, he occasionally loses his _________.
Ans 1. calm

2. anger

3. anxiety

4. temper

Question ID : 26433098903
Option 1 ID : 264330388267
Option 2 ID : 264330388265
Option 3 ID : 264330388266
Option 4 ID : 264330388268

Status : Answered
Chosen Option : 4

Q.52 The following sentence has been divided into segments. One of them may contain an
error. Select the segment that contains the error from the given options. If you don’t
find any error, mark ‘No error’ as your answer.

Two people were / fighting to each other / for no reason.
Ans 1. for no reason.

2. fighting to each other

3. No Error

4. Two people were

Question ID : 26433096144
Option 1 ID : 264330377347
Option 2 ID : 264330377346
Option 3 ID : 264330377348
Option 4 ID : 264330377345

Status : Answered
Chosen Option : 2
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Q.53 Select the most appropriate meaning of the underlined idiom.
He escaped the train disaster by the skin of his teeth.

Ans 1. By a huge margin

2. By a very narrow margin

3. Entrust someone with everything

4. Inconsistency in statements

Question ID : 264330164279
Option 1 ID : 264330644339
Option 2 ID : 264330644341
Option 3 ID : 264330644342
Option 4 ID : 264330644340

Status : Answered
Chosen Option : 2

Q.54 Select the option that expresses the given sentence in passive voice.
Why has Utpal injured my pet dogs?

Ans 1. Why have my pet dogs been injured by Utpal?

2. Why did been my pet dogs injured by Utpal?

3. Why had my pet dogs been injured by Utpal?

4. Why has my pet dogs been injured by Utpal?

Question ID : 264330164622
Option 1 ID : 264330645667
Option 2 ID : 264330645670
Option 3 ID : 264330645669
Option 4 ID : 264330645668

Status : Answered
Chosen Option : 1

Q.55 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution.’
In the jungle, they encountered a school of lions .

Ans 1. pride of lions

2. sloth of lions

3. pack of lions

4. No substitution

Question ID : 264330120519
Option 1 ID : 264330472328
Option 2 ID : 264330472329
Option 3 ID : 264330472327
Option 4 ID : 264330472330

Status : Answered
Chosen Option : 1
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Q.56 Select the option that expresses the given sentence in reported speech.
He said to me, “How are you now?”

Ans 1. He asked me that how I was now.

2. He asked me If I was well then.

3. He asked me how was I then.

4. He asked me how I was then.

Question ID : 264330135874
Option 1 ID : 264330532362
Option 2 ID : 264330532359
Option 3 ID : 264330532360
Option 4 ID : 264330532361

Status : Answered
Chosen Option : 4

Q.57 Select the option that expresses the given sentence in passive voice.
Priyanka edits the school magazine.

Ans 1. The school magazine is edited by Priyanka.

2. The school magazine were edited by Priyanka.

3. The school magazine is edit by Priyanka.

4. The school magazine was edited by Priyanka.

Question ID : 264330137230
Option 1 ID : 264330537553
Option 2 ID : 264330537554
Option 3 ID : 264330537552
Option 4 ID : 264330537551

Status : Answered
Chosen Option : 1

Q.58 Select the word that fills in the blank correctly and completes the following sentence
meaningfully.
In order to attract new readers and increase sales, the publishers of Stephen
Hawking's books have asked a few scientists to rewrite some of his books and
_______ them ________ so non-science readers can understand them.

Ans 1. dig, in

2. beat, in

3. dumb, down

4. push, down

Question ID : 264330139101
Option 1 ID : 264330545011
Option 2 ID : 264330545014
Option 3 ID : 264330545013
Option 4 ID : 264330545012

Status : Answered
Chosen Option : 4
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Q.59 Select the option that changes the voice of the following sentence.

The newlywed couple has bought a new house in Delhi.
Ans 1. A new house in Delhi was being bought by the newlywed couple.

2. A new house in Delhi have been bought by the newlywed couple.

3. A new house in Delhi has been bought by the newlywed couple.

4. A new house in Delhi was bought by the newlywed couple.

Question ID : 264330164606
Option 1 ID : 264330645610
Option 2 ID : 264330645607
Option 3 ID : 264330645609
Option 4 ID : 264330645608

Status : Answered
Chosen Option : 3

Q.60 Select the most appropriate ANTONYM of the given word.
Comprehensive

Ans 1. Complete

2. Superficial

3. Through

4. Exhaustive

Question ID : 264330168139
Option 1 ID : 264330659433
Option 2 ID : 264330659431
Option 3 ID : 264330659434
Option 4 ID : 264330659432

Status : Answered
Chosen Option : 2

Q.61 Select the most appropriate option to fill in the blank.

There is a special heritage for all of us in India, not an exclusive one, for none
_________ exclusive when it comes to shared heritage.

Ans 1. beckons

2. have beckoned

3. beckoning

4. beckoned

Question ID : 26433092115
Option 1 ID : 264330361782
Option 2 ID : 264330361784
Option 3 ID : 264330361781
Option 4 ID : 264330361783

Status : Answered
Chosen Option : 1
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Q.62 Select the most appropriate ANTONYM of the underlined word in the following
sentence.
The performance he gave was truly marvellous.

Ans 1. Terrible

2. Mesmerising

3. Interesting

4. Long

Question ID : 264330164309
Option 1 ID : 264330644454
Option 2 ID : 264330644453
Option 3 ID : 264330644451
Option 4 ID : 264330644452

Status : Answered
Chosen Option : 1

Q.63 Select the option that expresses the given sentence in direct speech.
Tara asked whether we would come for the company meeting.

Ans 1. Tara say, “Will you come for the company meeting?”

2. Tara said, “Will you came for the company meeting?”

3. Tara said, “Will you come for the company meeting?”

4. Tara says, “Would you comes for the company meeting?”

Question ID : 264330135987
Option 1 ID : 264330532792
Option 2 ID : 264330532793
Option 3 ID : 264330532791
Option 4 ID : 264330532794

Status : Answered
Chosen Option : 3

Q.64 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The politician, along with the newsmen, are expected shortly.
Ans 1. am expected shortly

2. were expected shortly

3. has expected shortly

4. is expected shortly

Question ID : 264330117114
Option 1 ID : 264330460525
Option 2 ID : 264330460527
Option 3 ID : 264330460528
Option 4 ID : 264330460526

Status : Answered
Chosen Option : 4
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Q.65 Choose the most suitable idiom for the given situation.
Your friend has already told me everything about your secret surprise that you were
planning for the last two weeks.

Ans 1. Behind closed doors

2. To spill the beans

3. To keep something under your hat

4. My lips are sealed

Question ID : 264330135903
Option 1 ID : 264330532470
Option 2 ID : 264330532469
Option 3 ID : 264330532467
Option 4 ID : 264330532468

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The French (1)________ was a period of great social and political upheaval in France that
lasted from 1789 to 1799. It (2) ________ with the storming of the Bastille, a symbol of royal
tyranny, and culminated in the rise of Napoleon Bonaparte as the dominant figure in French
politics. The Revolution brought about sweeping changes to French society, including the (3)
________ of the monarchy, the establishment of a democratic republic, and the (4) ________
of many feudal privileges. Despite its many achievements, however, the Revolution was also
characterised by violence, terror, and political (5) ________.

SubQuestion No : 66
Q.66 Select the most appropriate option to fill in blank 1.
Ans 1. Recuperation

2. Uprising

3. Mutiny

4. Revolution

Question ID : 264330165109
Option 1 ID : 264330647560
Option 2 ID : 264330647561
Option 3 ID : 264330647562
Option 4 ID : 264330647559

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The French (1)________ was a period of great social and political upheaval in France that
lasted from 1789 to 1799. It (2) ________ with the storming of the Bastille, a symbol of royal
tyranny, and culminated in the rise of Napoleon Bonaparte as the dominant figure in French
politics. The Revolution brought about sweeping changes to French society, including the (3)
________ of the monarchy, the establishment of a democratic republic, and the (4) ________
of many feudal privileges. Despite its many achievements, however, the Revolution was also
characterised by violence, terror, and political (5) ________.

SubQuestion No : 67
Q.67 Select the most appropriate option to fill in blank 2.
Ans 1. hesitated

2. concluded

3. commenced

4. intervened

Question ID : 264330165110
Option 1 ID : 264330647565
Option 2 ID : 264330647563
Option 3 ID : 264330647566
Option 4 ID : 264330647564

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The French (1)________ was a period of great social and political upheaval in France that
lasted from 1789 to 1799. It (2) ________ with the storming of the Bastille, a symbol of royal
tyranny, and culminated in the rise of Napoleon Bonaparte as the dominant figure in French
politics. The Revolution brought about sweeping changes to French society, including the (3)
________ of the monarchy, the establishment of a democratic republic, and the (4) ________
of many feudal privileges. Despite its many achievements, however, the Revolution was also
characterised by violence, terror, and political (5) ________.

SubQuestion No : 68
Q.68 Select the most appropriate option to fill in blank 3.
Ans 1. restoration

2. preservation

3. continuation

4. abolition

Question ID : 264330165111
Option 1 ID : 264330647567
Option 2 ID : 264330647570
Option 3 ID : 264330647568
Option 4 ID : 264330647569

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The French (1)________ was a period of great social and political upheaval in France that
lasted from 1789 to 1799. It (2) ________ with the storming of the Bastille, a symbol of royal
tyranny, and culminated in the rise of Napoleon Bonaparte as the dominant figure in French
politics. The Revolution brought about sweeping changes to French society, including the (3)
________ of the monarchy, the establishment of a democratic republic, and the (4) ________
of many feudal privileges. Despite its many achievements, however, the Revolution was also
characterised by violence, terror, and political (5) ________.

SubQuestion No : 69
Q.69 Select the most appropriate option to fill in blank 4.
Ans 1. exaggeration

2. amplification

3. maintenance

4. elimination

Question ID : 264330165112
Option 1 ID : 264330647574
Option 2 ID : 264330647573
Option 3 ID : 264330647571
Option 4 ID : 264330647572

Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The French (1)________ was a period of great social and political upheaval in France that
lasted from 1789 to 1799. It (2) ________ with the storming of the Bastille, a symbol of royal
tyranny, and culminated in the rise of Napoleon Bonaparte as the dominant figure in French
politics. The Revolution brought about sweeping changes to French society, including the (3)
________ of the monarchy, the establishment of a democratic republic, and the (4) ________
of many feudal privileges. Despite its many achievements, however, the Revolution was also
characterised by violence, terror, and political (5) ________.

SubQuestion No : 70
Q.70 Select the most appropriate option to fill in blank 5.
Ans 1. reconciliation

2. harmony

3. stability

4. upheaval

Question ID : 264330165113
Option 1 ID : 264330647578
Option 2 ID : 264330647576
Option 3 ID : 264330647575
Option 4 ID : 264330647577

Status : Marked For Review
Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The left handed pages (1)_________ for the student to use individually, but they may of
course be used by the (2)________ as a source of ideas and information on which to base a
lesson. The student then has the left-hand page as a/an (3)________ of what has been
taught and can refer to it in the (4)_______. The exercises can be done (5)_______, in class
or as homework.

SubQuestion No : 71
Q.71 Select the most appropriate option to fill in blank no.1.
Ans 1. wrote

2. write

3. are written

4. written

Question ID : 264330167903
Option 1 ID : 264330658531
Option 2 ID : 264330658534
Option 3 ID : 264330658532
Option 4 ID : 264330658533

Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The left handed pages (1)_________ for the student to use individually, but they may of
course be used by the (2)________ as a source of ideas and information on which to base a
lesson. The student then has the left-hand page as a/an (3)________ of what has been
taught and can refer to it in the (4)_______. The exercises can be done (5)_______, in class
or as homework.

SubQuestion No : 72
Q.72 Select the most appropriate option to fill in blank no.2.
Ans 1. musician

2. artist

3. student

4. teacher

Question ID : 264330167904
Option 1 ID : 264330658538
Option 2 ID : 264330658535
Option 3 ID : 264330658536
Option 4 ID : 264330658537

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The left handed pages (1)_________ for the student to use individually, but they may of
course be used by the (2)________ as a source of ideas and information on which to base a
lesson. The student then has the left-hand page as a/an (3)________ of what has been
taught and can refer to it in the (4)_______. The exercises can be done (5)_______, in class
or as homework.

SubQuestion No : 73
Q.73 Select the most appropriate option to fill in blank no.3.
Ans 1. illustration

2. record

3. anecdote

4. allusion

Question ID : 264330167905
Option 1 ID : 264330658541
Option 2 ID : 264330658540
Option 3 ID : 264330658542
Option 4 ID : 264330658539

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The left handed pages (1)_________ for the student to use individually, but they may of
course be used by the (2)________ as a source of ideas and information on which to base a
lesson. The student then has the left-hand page as a/an (3)________ of what has been
taught and can refer to it in the (4)_______. The exercises can be done (5)_______, in class
or as homework.

SubQuestion No : 74
Q.74 Select the most appropriate option to fill in blank no.4.
Ans 1. past

2. progression

3. future

4. lecture

Question ID : 264330167906
Option 1 ID : 264330658543
Option 2 ID : 264330658544
Option 3 ID : 264330658545
Option 4 ID : 264330658546

Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The left handed pages (1)_________ for the student to use individually, but they may of
course be used by the (2)________ as a source of ideas and information on which to base a
lesson. The student then has the left-hand page as a/an (3)________ of what has been
taught and can refer to it in the (4)_______. The exercises can be done (5)_______, in class
or as homework.

SubQuestion No : 75
Q.75 Select the most appropriate option to fill in blank no.5.
Ans 1. publicly

2. collaboratively

3. ideally

4. individually

Question ID : 264330167907
Option 1 ID : 264330658547
Option 2 ID : 264330658549
Option 3 ID : 264330658550
Option 4 ID : 264330658548

Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The service industry in India is growing 1.______. Increasing customer expectations have
forced organisations in the industry to 2. _______ service innovations and explore ways to
improve revenues and profitability. The hotel industry is a good example of the service
business 3._______ organisations are modifying their service delivery 4._______ to attract
greater number of customers. The newly emerging micro-stay segment is 5._______ space
for itself in the hotel industry.

SubQuestion No : 76
Q.76 Select the most appropriate option to fill in blank No. 1.
Ans 1. marginally

2. rapid

3. slow

4. rapidly

Question ID : 264330168001
Option 1 ID : 264330658894
Option 2 ID : 264330658891
Option 3 ID : 264330658893
Option 4 ID : 264330658892

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The service industry in India is growing 1.______. Increasing customer expectations have
forced organisations in the industry to 2. _______ service innovations and explore ways to
improve revenues and profitability. The hotel industry is a good example of the service
business 3._______ organisations are modifying their service delivery 4._______ to attract
greater number of customers. The newly emerging micro-stay segment is 5._______ space
for itself in the hotel industry.

SubQuestion No : 77
Q.77 Select the most appropriate option to fill in blank No. 2.
Ans 1. introduce

2. criticise

3. marvel

4. degenerate

Question ID : 264330168002
Option 1 ID : 264330658897
Option 2 ID : 264330658896
Option 3 ID : 264330658898
Option 4 ID : 264330658895

Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The service industry in India is growing 1.______. Increasing customer expectations have
forced organisations in the industry to 2. _______ service innovations and explore ways to
improve revenues and profitability. The hotel industry is a good example of the service
business 3._______ organisations are modifying their service delivery 4._______ to attract
greater number of customers. The newly emerging micro-stay segment is 5._______ space
for itself in the hotel industry.

SubQuestion No : 78
Q.78 Select the most appropriate option to fill in blank No. 3.
Ans 1. where

2. which

3. whom

4. when

Question ID : 264330168003
Option 1 ID : 264330658902
Option 2 ID : 264330658900
Option 3 ID : 264330658899
Option 4 ID : 264330658901

Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The service industry in India is growing 1.______. Increasing customer expectations have
forced organisations in the industry to 2. _______ service innovations and explore ways to
improve revenues and profitability. The hotel industry is a good example of the service
business 3._______ organisations are modifying their service delivery 4._______ to attract
greater number of customers. The newly emerging micro-stay segment is 5._______ space
for itself in the hotel industry.

SubQuestion No : 79
Q.79 Select the most appropriate option to fill in blank No. 4.
Ans 1. tastes

2. approaches

3. subjects

4. issues

Question ID : 264330168004
Option 1 ID : 264330658905
Option 2 ID : 264330658903
Option 3 ID : 264330658904
Option 4 ID : 264330658906

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The service industry in India is growing 1.______. Increasing customer expectations have
forced organisations in the industry to 2. _______ service innovations and explore ways to
improve revenues and profitability. The hotel industry is a good example of the service
business 3._______ organisations are modifying their service delivery 4._______ to attract
greater number of customers. The newly emerging micro-stay segment is 5._______ space
for itself in the hotel industry.

SubQuestion No : 80
Q.80 Select the most appropriate option to fill in blank No. 5.
Ans 1. deteriorating

2. generating

3. ricocheting

4. counterfeiting

Question ID : 264330168005
Option 1 ID : 264330658910
Option 2 ID : 264330658909
Option 3 ID : 264330658907
Option 4 ID : 264330658908

Status : Answered
Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Everyone (1) ________ that paper is made from trees. But when one looks at trees, one
cannot imagine that something as soft and (2)________ as paper is made from a tree that is
so hard and strong. Plant materials such as wood are made of fibres known as cellulose.
Cellulose is the primary (3) ________ in papermaking. Raw wood is first (4) ________ into
pulp, which consists of a mixture of cellulose, lignin, water and some chemicals. The pulp can
be made mechanically through grinders or through chemical processes. The paper (5)
________ in this way is weak and is used to make newspapers, magazines and phonebooks.

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank number 1.
Ans 1. admits

2. feels

3. assures

4. knows

Question ID : 264330169216
Option 1 ID : 264330663653
Option 2 ID : 264330663654
Option 3 ID : 264330663651
Option 4 ID : 264330663652

Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Everyone (1) ________ that paper is made from trees. But when one looks at trees, one
cannot imagine that something as soft and (2)________ as paper is made from a tree that is
so hard and strong. Plant materials such as wood are made of fibres known as cellulose.
Cellulose is the primary (3) ________ in papermaking. Raw wood is first (4) ________ into
pulp, which consists of a mixture of cellulose, lignin, water and some chemicals. The pulp can
be made mechanically through grinders or through chemical processes. The paper (5)
________ in this way is weak and is used to make newspapers, magazines and phonebooks.

SubQuestion No : 82
Q.82 Select the most appropriate option to fill in blank number 2.
Ans 1. awful

2. dashing

3. healthy

4. fragile

Question ID : 264330169217
Option 1 ID : 264330663658
Option 2 ID : 264330663656
Option 3 ID : 264330663657
Option 4 ID : 264330663655

Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Everyone (1) ________ that paper is made from trees. But when one looks at trees, one
cannot imagine that something as soft and (2)________ as paper is made from a tree that is
so hard and strong. Plant materials such as wood are made of fibres known as cellulose.
Cellulose is the primary (3) ________ in papermaking. Raw wood is first (4) ________ into
pulp, which consists of a mixture of cellulose, lignin, water and some chemicals. The pulp can
be made mechanically through grinders or through chemical processes. The paper (5)
________ in this way is weak and is used to make newspapers, magazines and phonebooks.

SubQuestion No : 83
Q.83 Select the most appropriate option to fill in blank number 3.
Ans 1. advantage

2. ingredient

3. choice

4. force

Question ID : 264330169218
Option 1 ID : 264330663661
Option 2 ID : 264330663662
Option 3 ID : 264330663660
Option 4 ID : 264330663659

Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Everyone (1) ________ that paper is made from trees. But when one looks at trees, one
cannot imagine that something as soft and (2)________ as paper is made from a tree that is
so hard and strong. Plant materials such as wood are made of fibres known as cellulose.
Cellulose is the primary (3) ________ in papermaking. Raw wood is first (4) ________ into
pulp, which consists of a mixture of cellulose, lignin, water and some chemicals. The pulp can
be made mechanically through grinders or through chemical processes. The paper (5)
________ in this way is weak and is used to make newspapers, magazines and phonebooks.

SubQuestion No : 84
Q.84 Select the most appropriate option to fill in blank number 4.
Ans 1. implied

2. invested

3. converted

4. managed

Question ID : 264330169219
Option 1 ID : 264330663663
Option 2 ID : 264330663664
Option 3 ID : 264330663665
Option 4 ID : 264330663666

Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Everyone (1) ________ that paper is made from trees. But when one looks at trees, one
cannot imagine that something as soft and (2)________ as paper is made from a tree that is
so hard and strong. Plant materials such as wood are made of fibres known as cellulose.
Cellulose is the primary (3) ________ in papermaking. Raw wood is first (4) ________ into
pulp, which consists of a mixture of cellulose, lignin, water and some chemicals. The pulp can
be made mechanically through grinders or through chemical processes. The paper (5)
________ in this way is weak and is used to make newspapers, magazines and phonebooks.

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank number 5.
Ans 1. involved

2. produced

3. considered

4. emphasised

Question ID : 264330169220
Option 1 ID : 264330663670
Option 2 ID : 264330663667
Option 3 ID : 264330663669
Option 4 ID : 264330663668

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.
The Constituent Assembly of India was a body that was set up to draft and enact a new
Constitution for India, which became the supreme law of the country upon its adoption in
1950. The assembly was constituted in 1946, after India's independence from British rule was
assured. It was composed of 389 members, including 296 representatives from British India
and 93 from the princely states. The assembly held its first session on 9 December 1946 and
continued to work for nearly 3 years to complete the drafting of the Constitution. The final
document was adopted on 26 November 1949 and came into effect on 26 January 1950,
marking the beginning of India's status as a republic.
One of the key features of the Constituent Assembly was its inclusivity. The members of the
assembly were drawn from diverse backgrounds and political persuasions, representing a
broad spectrum of Indian society. They included representatives from different castes,
religions and regions, as well as members with varying levels of education and political
experience. This diversity was reflected in the debates and discussions that took place within
the assembly, which were often passionate and contentious, but ultimately led to a
constitution that was widely regarded as fair and balanced.
The drafting of the Constitution was a complex and lengthy process that required extensive
debate and negotiation. The members of the assembly were divided into several committees
that were responsible for different aspects of the Constitution, such as the Fundamental
Rights Committee, the Union Powers Committee and the Drafting Committee. The most
important of these committees was the Drafting Committee, which was headed by Dr. BR
Ambedkar, a prominent leader and jurist who played a key role in shaping the final document.
The Constitution that emerged from the Constituent Assembly was a historic document that
set the framework for India's democracy and governance. It established India as a sovereign,
socialist, secular and democratic republic and outlined a system of government that was
based on the principles of separation of powers, federalism and fundamental rights. The
Constitution also enshrined a number of progressive provisions that reflected the aspirations
of the Indian people, such as the right to equality, the right to freedom of speech and
expression and the right to education.
The enforcement of the Constitution on 26 January 1950 was a momentous occasion in
Indian history, marking the culmination of a long and hard-fought struggle for independence
and self-rule. The day is celebrated every year as Republic Day, a national holiday that is
marked by parades, speeches and cultural events across the country. The Constitution
remains the cornerstone of India's democracy and is widely regarded as one of the most
important and progressive documents of its kind in the world.
Overall, the Constituent Assembly of India was a remarkable achievement, reflecting the spirit
of cooperation and compromise that characterised India's struggle for independence. Its
legacy continues to shape India's political and social landscape to this day, and its example
serves as an inspiration for other countries that seek to establish democratic and inclusive
systems of governance.

SubQuestion No : 86
Q.86 Which of the following provisions reflects the aspiration of Indian people in the

constitution?
Ans 1. Sovereign and socialist country

2. Fundamental rights

3. Right to equality

4. Separation of powers

Question ID : 264330168493
Option 1 ID : 264330660810
Option 2 ID : 264330660808
Option 3 ID : 264330660807
Option 4 ID : 264330660809

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.
The Constituent Assembly of India was a body that was set up to draft and enact a new
Constitution for India, which became the supreme law of the country upon its adoption in
1950. The assembly was constituted in 1946, after India's independence from British rule was
assured. It was composed of 389 members, including 296 representatives from British India
and 93 from the princely states. The assembly held its first session on 9 December 1946 and
continued to work for nearly 3 years to complete the drafting of the Constitution. The final
document was adopted on 26 November 1949 and came into effect on 26 January 1950,
marking the beginning of India's status as a republic.
One of the key features of the Constituent Assembly was its inclusivity. The members of the
assembly were drawn from diverse backgrounds and political persuasions, representing a
broad spectrum of Indian society. They included representatives from different castes,
religions and regions, as well as members with varying levels of education and political
experience. This diversity was reflected in the debates and discussions that took place within
the assembly, which were often passionate and contentious, but ultimately led to a
constitution that was widely regarded as fair and balanced.
The drafting of the Constitution was a complex and lengthy process that required extensive
debate and negotiation. The members of the assembly were divided into several committees
that were responsible for different aspects of the Constitution, such as the Fundamental
Rights Committee, the Union Powers Committee and the Drafting Committee. The most
important of these committees was the Drafting Committee, which was headed by Dr. BR
Ambedkar, a prominent leader and jurist who played a key role in shaping the final document.
The Constitution that emerged from the Constituent Assembly was a historic document that
set the framework for India's democracy and governance. It established India as a sovereign,
socialist, secular and democratic republic and outlined a system of government that was
based on the principles of separation of powers, federalism and fundamental rights. The
Constitution also enshrined a number of progressive provisions that reflected the aspirations
of the Indian people, such as the right to equality, the right to freedom of speech and
expression and the right to education.
The enforcement of the Constitution on 26 January 1950 was a momentous occasion in
Indian history, marking the culmination of a long and hard-fought struggle for independence
and self-rule. The day is celebrated every year as Republic Day, a national holiday that is
marked by parades, speeches and cultural events across the country. The Constitution
remains the cornerstone of India's democracy and is widely regarded as one of the most
important and progressive documents of its kind in the world.
Overall, the Constituent Assembly of India was a remarkable achievement, reflecting the spirit
of cooperation and compromise that characterised India's struggle for independence. Its
legacy continues to shape India's political and social landscape to this day, and its example
serves as an inspiration for other countries that seek to establish democratic and inclusive
systems of governance.

SubQuestion No : 87
Q.87 The passage mentions the importance of inclusivity in the Indian Constitution. Which

of the following real-world scenarios is the most similar to this theme?
Ans 1. A restaurant that only serves vegetarian food to cater to people with different dietary

needs

2. A museum that displays art from various themes to promote diversity and
understanding

3. A sports team that only recruits players from a specific region to create a sense of
community and shared identity

4. A company that hires employees of different ages, genders and backgrounds to
create a more diverse workforce

Question ID : 264330168495
Option 1 ID : 264330660815
Option 2 ID : 264330660816
Option 3 ID : 264330660818
Option 4 ID : 264330660817

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
The Constituent Assembly of India was a body that was set up to draft and enact a new
Constitution for India, which became the supreme law of the country upon its adoption in
1950. The assembly was constituted in 1946, after India's independence from British rule was
assured. It was composed of 389 members, including 296 representatives from British India
and 93 from the princely states. The assembly held its first session on 9 December 1946 and
continued to work for nearly 3 years to complete the drafting of the Constitution. The final
document was adopted on 26 November 1949 and came into effect on 26 January 1950,
marking the beginning of India's status as a republic.
One of the key features of the Constituent Assembly was its inclusivity. The members of the
assembly were drawn from diverse backgrounds and political persuasions, representing a
broad spectrum of Indian society. They included representatives from different castes,
religions and regions, as well as members with varying levels of education and political
experience. This diversity was reflected in the debates and discussions that took place within
the assembly, which were often passionate and contentious, but ultimately led to a
constitution that was widely regarded as fair and balanced.
The drafting of the Constitution was a complex and lengthy process that required extensive
debate and negotiation. The members of the assembly were divided into several committees
that were responsible for different aspects of the Constitution, such as the Fundamental
Rights Committee, the Union Powers Committee and the Drafting Committee. The most
important of these committees was the Drafting Committee, which was headed by Dr. BR
Ambedkar, a prominent leader and jurist who played a key role in shaping the final document.
The Constitution that emerged from the Constituent Assembly was a historic document that
set the framework for India's democracy and governance. It established India as a sovereign,
socialist, secular and democratic republic and outlined a system of government that was
based on the principles of separation of powers, federalism and fundamental rights. The
Constitution also enshrined a number of progressive provisions that reflected the aspirations
of the Indian people, such as the right to equality, the right to freedom of speech and
expression and the right to education.
The enforcement of the Constitution on 26 January 1950 was a momentous occasion in
Indian history, marking the culmination of a long and hard-fought struggle for independence
and self-rule. The day is celebrated every year as Republic Day, a national holiday that is
marked by parades, speeches and cultural events across the country. The Constitution
remains the cornerstone of India's democracy and is widely regarded as one of the most
important and progressive documents of its kind in the world.
Overall, the Constituent Assembly of India was a remarkable achievement, reflecting the spirit
of cooperation and compromise that characterised India's struggle for independence. Its
legacy continues to shape India's political and social landscape to this day, and its example
serves as an inspiration for other countries that seek to establish democratic and inclusive
systems of governance.

SubQuestion No : 88
Q.88 Which of the following would be the most appropriate title for the given passage?
Ans 1. The Formation of Indian Constitution

2. India's Struggle for Independence

3. The History of Indian National Congress

4. The Role of Jawaharlal Nehru in Indian Politics

Question ID : 264330168491
Option 1 ID : 264330660799
Option 2 ID : 264330660801
Option 3 ID : 264330660800
Option 4 ID : 264330660802

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.
The Constituent Assembly of India was a body that was set up to draft and enact a new
Constitution for India, which became the supreme law of the country upon its adoption in
1950. The assembly was constituted in 1946, after India's independence from British rule was
assured. It was composed of 389 members, including 296 representatives from British India
and 93 from the princely states. The assembly held its first session on 9 December 1946 and
continued to work for nearly 3 years to complete the drafting of the Constitution. The final
document was adopted on 26 November 1949 and came into effect on 26 January 1950,
marking the beginning of India's status as a republic.
One of the key features of the Constituent Assembly was its inclusivity. The members of the
assembly were drawn from diverse backgrounds and political persuasions, representing a
broad spectrum of Indian society. They included representatives from different castes,
religions and regions, as well as members with varying levels of education and political
experience. This diversity was reflected in the debates and discussions that took place within
the assembly, which were often passionate and contentious, but ultimately led to a
constitution that was widely regarded as fair and balanced.
The drafting of the Constitution was a complex and lengthy process that required extensive
debate and negotiation. The members of the assembly were divided into several committees
that were responsible for different aspects of the Constitution, such as the Fundamental
Rights Committee, the Union Powers Committee and the Drafting Committee. The most
important of these committees was the Drafting Committee, which was headed by Dr. BR
Ambedkar, a prominent leader and jurist who played a key role in shaping the final document.
The Constitution that emerged from the Constituent Assembly was a historic document that
set the framework for India's democracy and governance. It established India as a sovereign,
socialist, secular and democratic republic and outlined a system of government that was
based on the principles of separation of powers, federalism and fundamental rights. The
Constitution also enshrined a number of progressive provisions that reflected the aspirations
of the Indian people, such as the right to equality, the right to freedom of speech and
expression and the right to education.
The enforcement of the Constitution on 26 January 1950 was a momentous occasion in
Indian history, marking the culmination of a long and hard-fought struggle for independence
and self-rule. The day is celebrated every year as Republic Day, a national holiday that is
marked by parades, speeches and cultural events across the country. The Constitution
remains the cornerstone of India's democracy and is widely regarded as one of the most
important and progressive documents of its kind in the world.
Overall, the Constituent Assembly of India was a remarkable achievement, reflecting the spirit
of cooperation and compromise that characterised India's struggle for independence. Its
legacy continues to shape India's political and social landscape to this day, and its example
serves as an inspiration for other countries that seek to establish democratic and inclusive
systems of governance.

SubQuestion No : 89
Q.89 When was the Constitution of India adopted?
Ans 1. 9 December 1946

2. 26 January 1950

3. 26 January 1946

4. 26 November 1949

Question ID : 264330168492
Option 1 ID : 264330660805
Option 2 ID : 264330660804
Option 3 ID : 264330660803
Option 4 ID : 264330660806

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
The Constituent Assembly of India was a body that was set up to draft and enact a new
Constitution for India, which became the supreme law of the country upon its adoption in
1950. The assembly was constituted in 1946, after India's independence from British rule was
assured. It was composed of 389 members, including 296 representatives from British India
and 93 from the princely states. The assembly held its first session on 9 December 1946 and
continued to work for nearly 3 years to complete the drafting of the Constitution. The final
document was adopted on 26 November 1949 and came into effect on 26 January 1950,
marking the beginning of India's status as a republic.
One of the key features of the Constituent Assembly was its inclusivity. The members of the
assembly were drawn from diverse backgrounds and political persuasions, representing a
broad spectrum of Indian society. They included representatives from different castes,
religions and regions, as well as members with varying levels of education and political
experience. This diversity was reflected in the debates and discussions that took place within
the assembly, which were often passionate and contentious, but ultimately led to a
constitution that was widely regarded as fair and balanced.
The drafting of the Constitution was a complex and lengthy process that required extensive
debate and negotiation. The members of the assembly were divided into several committees
that were responsible for different aspects of the Constitution, such as the Fundamental
Rights Committee, the Union Powers Committee and the Drafting Committee. The most
important of these committees was the Drafting Committee, which was headed by Dr. BR
Ambedkar, a prominent leader and jurist who played a key role in shaping the final document.
The Constitution that emerged from the Constituent Assembly was a historic document that
set the framework for India's democracy and governance. It established India as a sovereign,
socialist, secular and democratic republic and outlined a system of government that was
based on the principles of separation of powers, federalism and fundamental rights. The
Constitution also enshrined a number of progressive provisions that reflected the aspirations
of the Indian people, such as the right to equality, the right to freedom of speech and
expression and the right to education.
The enforcement of the Constitution on 26 January 1950 was a momentous occasion in
Indian history, marking the culmination of a long and hard-fought struggle for independence
and self-rule. The day is celebrated every year as Republic Day, a national holiday that is
marked by parades, speeches and cultural events across the country. The Constitution
remains the cornerstone of India's democracy and is widely regarded as one of the most
important and progressive documents of its kind in the world.
Overall, the Constituent Assembly of India was a remarkable achievement, reflecting the spirit
of cooperation and compromise that characterised India's struggle for independence. Its
legacy continues to shape India's political and social landscape to this day, and its example
serves as an inspiration for other countries that seek to establish democratic and inclusive
systems of governance.

SubQuestion No : 90
Q.90 Find the ANTONYM of the word ‘combative’ from the passage.
Ans 1. Secular

2. Legacy

3. Contentious

4. Agreeable

Question ID : 264330168494
Option 1 ID : 264330660813
Option 2 ID : 264330660814
Option 3 ID : 264330660811
Option 4 ID : 264330660812

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.
Parents and educators frequently criticise today's youth for their irresponsibility. On the other
hand, restrictions are met with resistance from teenagers. Despite parents' concerns that
teenagers will abuse their freedom, we are dissatisfied that we are required to adhere to so
many regulations. We sincerely hope that teachers and parents will begin to trust our
judgment more. As teenagers, we shouldn't be shielded from the harsh realities of the world.
In our day and mature, such countless individuals are left to fight for themselves. We are
fortunate to live in a safe environment, but we ought to also be free to comprehend the adult
world and its requirements of us.
It's important for adults to understand that having fun isn't always a bad thing. The outcome
will undoubtedly benefit us in the long run by exposing us to the wider world, but it will not
result in a night out with friends watching a movie or a day spent reading rather than studying.
It would be beneficial for young people to learn about their limits and how much something is
beneficial to us.
We also begin to develop our own perspective on the world around us during adolescence.
We open up to friends and younger people more. Adults ought to encourage us to keep these
close friendships rather than worrying about how far apart we are from them.
If parents want their teenagers to better understand what freedom entails, they might want to
think about letting them work part-time, which is common practice in many countries. This
would be preferable to limiting them to a monthly allowance. Working teaches us
responsibility for our spending and saving, which is an important life skill. We would be more
helpful if we were given the responsibility of managing our own finances, especially when it
comes to things like getting the most recent comics or eating pizza with friends. It would be
preferable to correct us for occasional extravagant behavior because we may make mistakes.
However, we all make errors. Everyone makes errors. We ought to be given the opportunity to
learn from our mistakes and accept responsibility for them rather than being held accountable
for them.
However, it is essential to emphasise that there should be checks and balances in Freedom.
Additionally, unrestricted freedom can result in serious consequences. Who hasn't heard of
promising young people running away from their studies? In the same way, we should
remember that granting someone freedom does not mean removing the safety net that will
catch them if they fall. Numerous teenage criminals have slipped through social networks
without being observed. In general, it might be preferable to restrict teenagers' freedom so
that they can become more responsible adults in adulthood.

SubQuestion No : 91
Q.91 Select the most appropriate synonym of the word ‘comprehend’.
Ans 1. Imply

2. Appreciate

3. Grasp

4. Judge

Question ID : 264330169140
Option 1 ID : 264330663361
Option 2 ID : 264330663362
Option 3 ID : 264330663359
Option 4 ID : 264330663360

Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.
Parents and educators frequently criticise today's youth for their irresponsibility. On the other
hand, restrictions are met with resistance from teenagers. Despite parents' concerns that
teenagers will abuse their freedom, we are dissatisfied that we are required to adhere to so
many regulations. We sincerely hope that teachers and parents will begin to trust our
judgment more. As teenagers, we shouldn't be shielded from the harsh realities of the world.
In our day and mature, such countless individuals are left to fight for themselves. We are
fortunate to live in a safe environment, but we ought to also be free to comprehend the adult
world and its requirements of us.
It's important for adults to understand that having fun isn't always a bad thing. The outcome
will undoubtedly benefit us in the long run by exposing us to the wider world, but it will not
result in a night out with friends watching a movie or a day spent reading rather than studying.
It would be beneficial for young people to learn about their limits and how much something is
beneficial to us.
We also begin to develop our own perspective on the world around us during adolescence.
We open up to friends and younger people more. Adults ought to encourage us to keep these
close friendships rather than worrying about how far apart we are from them.
If parents want their teenagers to better understand what freedom entails, they might want to
think about letting them work part-time, which is common practice in many countries. This
would be preferable to limiting them to a monthly allowance. Working teaches us
responsibility for our spending and saving, which is an important life skill. We would be more
helpful if we were given the responsibility of managing our own finances, especially when it
comes to things like getting the most recent comics or eating pizza with friends. It would be
preferable to correct us for occasional extravagant behavior because we may make mistakes.
However, we all make errors. Everyone makes errors. We ought to be given the opportunity to
learn from our mistakes and accept responsibility for them rather than being held accountable
for them.
However, it is essential to emphasise that there should be checks and balances in Freedom.
Additionally, unrestricted freedom can result in serious consequences. Who hasn't heard of
promising young people running away from their studies? In the same way, we should
remember that granting someone freedom does not mean removing the safety net that will
catch them if they fall. Numerous teenage criminals have slipped through social networks
without being observed. In general, it might be preferable to restrict teenagers' freedom so
that they can become more responsible adults in adulthood.

SubQuestion No : 92
Q.92 Select the central theme of the passage.
Ans 1. Understanding liberty

2. Family relationships

3. Work job stress

4. Learning and environment

Question ID : 264330169139
Option 1 ID : 264330663358
Option 2 ID : 264330663355
Option 3 ID : 264330663356
Option 4 ID : 264330663357

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.
Parents and educators frequently criticise today's youth for their irresponsibility. On the other
hand, restrictions are met with resistance from teenagers. Despite parents' concerns that
teenagers will abuse their freedom, we are dissatisfied that we are required to adhere to so
many regulations. We sincerely hope that teachers and parents will begin to trust our
judgment more. As teenagers, we shouldn't be shielded from the harsh realities of the world.
In our day and mature, such countless individuals are left to fight for themselves. We are
fortunate to live in a safe environment, but we ought to also be free to comprehend the adult
world and its requirements of us.
It's important for adults to understand that having fun isn't always a bad thing. The outcome
will undoubtedly benefit us in the long run by exposing us to the wider world, but it will not
result in a night out with friends watching a movie or a day spent reading rather than studying.
It would be beneficial for young people to learn about their limits and how much something is
beneficial to us.
We also begin to develop our own perspective on the world around us during adolescence.
We open up to friends and younger people more. Adults ought to encourage us to keep these
close friendships rather than worrying about how far apart we are from them.
If parents want their teenagers to better understand what freedom entails, they might want to
think about letting them work part-time, which is common practice in many countries. This
would be preferable to limiting them to a monthly allowance. Working teaches us
responsibility for our spending and saving, which is an important life skill. We would be more
helpful if we were given the responsibility of managing our own finances, especially when it
comes to things like getting the most recent comics or eating pizza with friends. It would be
preferable to correct us for occasional extravagant behavior because we may make mistakes.
However, we all make errors. Everyone makes errors. We ought to be given the opportunity to
learn from our mistakes and accept responsibility for them rather than being held accountable
for them.
However, it is essential to emphasise that there should be checks and balances in Freedom.
Additionally, unrestricted freedom can result in serious consequences. Who hasn't heard of
promising young people running away from their studies? In the same way, we should
remember that granting someone freedom does not mean removing the safety net that will
catch them if they fall. Numerous teenage criminals have slipped through social networks
without being observed. In general, it might be preferable to restrict teenagers' freedom so
that they can become more responsible adults in adulthood.

SubQuestion No : 93
Q.93 Based on your reading of the passage, select the correct statement.
Ans 1. Young people are more receptive to friends.

2. No obstacles in freedom will make responsible adults.

3. There should be no checks and balances in adolescence.

4. Learning environment should be challenging for the youth.

Question ID : 264330169141
Option 1 ID : 264330663365
Option 2 ID : 264330663363
Option 3 ID : 264330663366
Option 4 ID : 264330663364

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.
Parents and educators frequently criticise today's youth for their irresponsibility. On the other
hand, restrictions are met with resistance from teenagers. Despite parents' concerns that
teenagers will abuse their freedom, we are dissatisfied that we are required to adhere to so
many regulations. We sincerely hope that teachers and parents will begin to trust our
judgment more. As teenagers, we shouldn't be shielded from the harsh realities of the world.
In our day and mature, such countless individuals are left to fight for themselves. We are
fortunate to live in a safe environment, but we ought to also be free to comprehend the adult
world and its requirements of us.
It's important for adults to understand that having fun isn't always a bad thing. The outcome
will undoubtedly benefit us in the long run by exposing us to the wider world, but it will not
result in a night out with friends watching a movie or a day spent reading rather than studying.
It would be beneficial for young people to learn about their limits and how much something is
beneficial to us.
We also begin to develop our own perspective on the world around us during adolescence.
We open up to friends and younger people more. Adults ought to encourage us to keep these
close friendships rather than worrying about how far apart we are from them.
If parents want their teenagers to better understand what freedom entails, they might want to
think about letting them work part-time, which is common practice in many countries. This
would be preferable to limiting them to a monthly allowance. Working teaches us
responsibility for our spending and saving, which is an important life skill. We would be more
helpful if we were given the responsibility of managing our own finances, especially when it
comes to things like getting the most recent comics or eating pizza with friends. It would be
preferable to correct us for occasional extravagant behavior because we may make mistakes.
However, we all make errors. Everyone makes errors. We ought to be given the opportunity to
learn from our mistakes and accept responsibility for them rather than being held accountable
for them.
However, it is essential to emphasise that there should be checks and balances in Freedom.
Additionally, unrestricted freedom can result in serious consequences. Who hasn't heard of
promising young people running away from their studies? In the same way, we should
remember that granting someone freedom does not mean removing the safety net that will
catch them if they fall. Numerous teenage criminals have slipped through social networks
without being observed. In general, it might be preferable to restrict teenagers' freedom so
that they can become more responsible adults in adulthood.

SubQuestion No : 94
Q.94 Select the most appropriate title for the passage.
Ans 1. Parents and Adults

2. More Freedom For Greater Responsibility

3. Youth and Learning

4. Teenage Problems

Question ID : 264330169137
Option 1 ID : 264330663347
Option 2 ID : 264330663349
Option 3 ID : 264330663350
Option 4 ID : 264330663348

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.
Parents and educators frequently criticise today's youth for their irresponsibility. On the other
hand, restrictions are met with resistance from teenagers. Despite parents' concerns that
teenagers will abuse their freedom, we are dissatisfied that we are required to adhere to so
many regulations. We sincerely hope that teachers and parents will begin to trust our
judgment more. As teenagers, we shouldn't be shielded from the harsh realities of the world.
In our day and mature, such countless individuals are left to fight for themselves. We are
fortunate to live in a safe environment, but we ought to also be free to comprehend the adult
world and its requirements of us.
It's important for adults to understand that having fun isn't always a bad thing. The outcome
will undoubtedly benefit us in the long run by exposing us to the wider world, but it will not
result in a night out with friends watching a movie or a day spent reading rather than studying.
It would be beneficial for young people to learn about their limits and how much something is
beneficial to us.
We also begin to develop our own perspective on the world around us during adolescence.
We open up to friends and younger people more. Adults ought to encourage us to keep these
close friendships rather than worrying about how far apart we are from them.
If parents want their teenagers to better understand what freedom entails, they might want to
think about letting them work part-time, which is common practice in many countries. This
would be preferable to limiting them to a monthly allowance. Working teaches us
responsibility for our spending and saving, which is an important life skill. We would be more
helpful if we were given the responsibility of managing our own finances, especially when it
comes to things like getting the most recent comics or eating pizza with friends. It would be
preferable to correct us for occasional extravagant behavior because we may make mistakes.
However, we all make errors. Everyone makes errors. We ought to be given the opportunity to
learn from our mistakes and accept responsibility for them rather than being held accountable
for them.
However, it is essential to emphasise that there should be checks and balances in Freedom.
Additionally, unrestricted freedom can result in serious consequences. Who hasn't heard of
promising young people running away from their studies? In the same way, we should
remember that granting someone freedom does not mean removing the safety net that will
catch them if they fall. Numerous teenage criminals have slipped through social networks
without being observed. In general, it might be preferable to restrict teenagers' freedom so
that they can become more responsible adults in adulthood.

SubQuestion No : 95
Q.95 Identify the tone of the passage.
Ans 1. Fictional

2. Critical

3. Descriptive

4. Comical

Question ID : 264330169138
Option 1 ID : 264330663354
Option 2 ID : 264330663351
Option 3 ID : 264330663352
Option 4 ID : 264330663353

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.
Endangered species are those that are at risk of becoming extinct due to various factors such
as habitat destruction, poaching, pollution and climate change. The loss of biodiversity and
the extinction of species are major environmental concerns, as they can have a ripple effect
on the entire ecosystem. Endangered species are important to protect as they play vital roles
in maintaining the balance of the ecosystem and contribute to the health and well-being of the
planet and its inhabitants.
The importance of conserving endangered species is multifaceted. First and foremost, the
loss of biodiversity can have a profound impact on the environment. Every species has a
unique role to play in the ecosystem, and their disappearance can trigger a domino effect that
can ultimately lead to ecosystem collapse. For example, pollinators such as bees and
butterflies play a critical role in maintaining the health and productivity of plant communities.
Without them, many plants would not be able to reproduce, and the animals that rely on those
plants for food and habitat would also suffer. Similarly, predators such as wolves and lions
help to regulate prey populations and prevent overgrazing, which can have negative impacts
on the environment.
Endangered species also have cultural and economic value. Many indigenous cultures have
close relationships with endangered species and consider them to be an integral part of their
heritage and identity. For example, the Maasai people of Kenya have a strong cultural
connection to elephants and consider them to be sacred animals. In addition, endangered
species can be important sources of income for local communities through ecotourism. For
example, the mountain gorillas of Rwanda and Uganda are a major draw for tourists,
generating significant revenue for local economies.
Furthermore, endangered species can also have scientific and medical value. Many species
contain unique genetic material that can be used to develop new medicines and treatments
for a variety of diseases. For example, the rosy periwinkle, a plant species found only in
Madagascar, produces two drugs that are used to treat certain types of cancer. In addition,
endangered species can serve as indicators of environmental health. Changes in the
populations of certain species can indicate changes in the quality of the environment, alerting
scientists to potential issues that may require attention.
Conservation efforts are essential to protecting endangered species and preserving
biodiversity. These efforts can take many forms, such as habitat restoration, anti-poaching
measures and captive breeding programmes. Habitat restoration involves identifying and
protecting critical habitats for endangered species and restoring degraded areas to their
natural state. Anti-poaching measures are necessary to prevent the illegal hunting and
trafficking of endangered species. Captive breeding programmes are used to breed and raise
endangered species in captivity with the goal of releasing them into the wild. While these
efforts can be costly and time-consuming, they are necessary to ensure the survival of
endangered species.
Another key aspect of conservation is education and awareness-raising. Many people are
unaware of the threats facing endangered species and the importance of biodiversity.
Educating the public and raising awareness can help to promote greater appreciation for the
natural world and inspire action to protect it. Additionally, outreach programmes can work with
local communities to promote sustainable practices and reduce the impact of human activities
on the environment.
In conclusion, the conservation of endangered species is a critical issue that affects the health
and well-being of the planet and its inhabitants. Protecting biodiversity is important for
maintaining the balance of the ecosystem, preserving cultural and economic value and
advancing scientific and medical research. Conservation efforts, including habitat restoration,
anti-poaching measures, captive breeding programmes and education and awareness-
raising, are necessary to ensure the survival of endangered species and promote a
sustainable future.

SubQuestion No : 96
Q.96 Which of the following could be an appropriate title for the given passage?
Ans 1. The Benefits of Ecotourism for Local Communities

2. The Impact of Climate Change on the Environment

3. The Role of Endangered Species in the Ecosystem

4. The Importance of Biodiversity and its Conservation

Question ID : 264330168455
Option 1 ID : 264330660670
Option 2 ID : 264330660669
Option 3 ID : 264330660668
Option 4 ID : 264330660667

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.
Endangered species are those that are at risk of becoming extinct due to various factors such
as habitat destruction, poaching, pollution and climate change. The loss of biodiversity and
the extinction of species are major environmental concerns, as they can have a ripple effect
on the entire ecosystem. Endangered species are important to protect as they play vital roles
in maintaining the balance of the ecosystem and contribute to the health and well-being of the
planet and its inhabitants.
The importance of conserving endangered species is multifaceted. First and foremost, the
loss of biodiversity can have a profound impact on the environment. Every species has a
unique role to play in the ecosystem, and their disappearance can trigger a domino effect that
can ultimately lead to ecosystem collapse. For example, pollinators such as bees and
butterflies play a critical role in maintaining the health and productivity of plant communities.
Without them, many plants would not be able to reproduce, and the animals that rely on those
plants for food and habitat would also suffer. Similarly, predators such as wolves and lions
help to regulate prey populations and prevent overgrazing, which can have negative impacts
on the environment.
Endangered species also have cultural and economic value. Many indigenous cultures have
close relationships with endangered species and consider them to be an integral part of their
heritage and identity. For example, the Maasai people of Kenya have a strong cultural
connection to elephants and consider them to be sacred animals. In addition, endangered
species can be important sources of income for local communities through ecotourism. For
example, the mountain gorillas of Rwanda and Uganda are a major draw for tourists,
generating significant revenue for local economies.
Furthermore, endangered species can also have scientific and medical value. Many species
contain unique genetic material that can be used to develop new medicines and treatments
for a variety of diseases. For example, the rosy periwinkle, a plant species found only in
Madagascar, produces two drugs that are used to treat certain types of cancer. In addition,
endangered species can serve as indicators of environmental health. Changes in the
populations of certain species can indicate changes in the quality of the environment, alerting
scientists to potential issues that may require attention.
Conservation efforts are essential to protecting endangered species and preserving
biodiversity. These efforts can take many forms, such as habitat restoration, anti-poaching
measures and captive breeding programmes. Habitat restoration involves identifying and
protecting critical habitats for endangered species and restoring degraded areas to their
natural state. Anti-poaching measures are necessary to prevent the illegal hunting and
trafficking of endangered species. Captive breeding programmes are used to breed and raise
endangered species in captivity with the goal of releasing them into the wild. While these
efforts can be costly and time-consuming, they are necessary to ensure the survival of
endangered species.
Another key aspect of conservation is education and awareness-raising. Many people are
unaware of the threats facing endangered species and the importance of biodiversity.
Educating the public and raising awareness can help to promote greater appreciation for the
natural world and inspire action to protect it. Additionally, outreach programmes can work with
local communities to promote sustainable practices and reduce the impact of human activities
on the environment.
In conclusion, the conservation of endangered species is a critical issue that affects the health
and well-being of the planet and its inhabitants. Protecting biodiversity is important for
maintaining the balance of the ecosystem, preserving cultural and economic value and
advancing scientific and medical research. Conservation efforts, including habitat restoration,
anti-poaching measures, captive breeding programmes and education and awareness-
raising, are necessary to ensure the survival of endangered species and promote a
sustainable future.

SubQuestion No : 97
Q.97 Find the ANTONYM of the word ‘halt’ from the passage.
Ans 1. Captive

2. Hides

3. Trigger

4. Trafficking

Question ID : 264330168459
Option 1 ID : 264330660684
Option 2 ID : 264330660685
Option 3 ID : 264330660686
Option 4 ID : 264330660683

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.
Endangered species are those that are at risk of becoming extinct due to various factors such
as habitat destruction, poaching, pollution and climate change. The loss of biodiversity and
the extinction of species are major environmental concerns, as they can have a ripple effect
on the entire ecosystem. Endangered species are important to protect as they play vital roles
in maintaining the balance of the ecosystem and contribute to the health and well-being of the
planet and its inhabitants.
The importance of conserving endangered species is multifaceted. First and foremost, the
loss of biodiversity can have a profound impact on the environment. Every species has a
unique role to play in the ecosystem, and their disappearance can trigger a domino effect that
can ultimately lead to ecosystem collapse. For example, pollinators such as bees and
butterflies play a critical role in maintaining the health and productivity of plant communities.
Without them, many plants would not be able to reproduce, and the animals that rely on those
plants for food and habitat would also suffer. Similarly, predators such as wolves and lions
help to regulate prey populations and prevent overgrazing, which can have negative impacts
on the environment.
Endangered species also have cultural and economic value. Many indigenous cultures have
close relationships with endangered species and consider them to be an integral part of their
heritage and identity. For example, the Maasai people of Kenya have a strong cultural
connection to elephants and consider them to be sacred animals. In addition, endangered
species can be important sources of income for local communities through ecotourism. For
example, the mountain gorillas of Rwanda and Uganda are a major draw for tourists,
generating significant revenue for local economies.
Furthermore, endangered species can also have scientific and medical value. Many species
contain unique genetic material that can be used to develop new medicines and treatments
for a variety of diseases. For example, the rosy periwinkle, a plant species found only in
Madagascar, produces two drugs that are used to treat certain types of cancer. In addition,
endangered species can serve as indicators of environmental health. Changes in the
populations of certain species can indicate changes in the quality of the environment, alerting
scientists to potential issues that may require attention.
Conservation efforts are essential to protecting endangered species and preserving
biodiversity. These efforts can take many forms, such as habitat restoration, anti-poaching
measures and captive breeding programmes. Habitat restoration involves identifying and
protecting critical habitats for endangered species and restoring degraded areas to their
natural state. Anti-poaching measures are necessary to prevent the illegal hunting and
trafficking of endangered species. Captive breeding programmes are used to breed and raise
endangered species in captivity with the goal of releasing them into the wild. While these
efforts can be costly and time-consuming, they are necessary to ensure the survival of
endangered species.
Another key aspect of conservation is education and awareness-raising. Many people are
unaware of the threats facing endangered species and the importance of biodiversity.
Educating the public and raising awareness can help to promote greater appreciation for the
natural world and inspire action to protect it. Additionally, outreach programmes can work with
local communities to promote sustainable practices and reduce the impact of human activities
on the environment.
In conclusion, the conservation of endangered species is a critical issue that affects the health
and well-being of the planet and its inhabitants. Protecting biodiversity is important for
maintaining the balance of the ecosystem, preserving cultural and economic value and
advancing scientific and medical research. Conservation efforts, including habitat restoration,
anti-poaching measures, captive breeding programmes and education and awareness-
raising, are necessary to ensure the survival of endangered species and promote a
sustainable future.

SubQuestion No : 98
Q.98 Which of the following is an example of a real-world connection to the concept of

indigenous culture, as discussed in the passage?
Ans 1. The role of endangered species in maintaining the balance of the ecosystem

2. The economic benefits of ecotourism in areas with endangered species

3. The use of genetic material from endangered species to develop new medicines

4. The importance of preserving the cultural identity of endangered species

Question ID : 264330168456
Option 1 ID : 264330660674
Option 2 ID : 264330660672
Option 3 ID : 264330660673
Option 4 ID : 264330660671

Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the questions that follow.
Endangered species are those that are at risk of becoming extinct due to various factors such
as habitat destruction, poaching, pollution and climate change. The loss of biodiversity and
the extinction of species are major environmental concerns, as they can have a ripple effect
on the entire ecosystem. Endangered species are important to protect as they play vital roles
in maintaining the balance of the ecosystem and contribute to the health and well-being of the
planet and its inhabitants.
The importance of conserving endangered species is multifaceted. First and foremost, the
loss of biodiversity can have a profound impact on the environment. Every species has a
unique role to play in the ecosystem, and their disappearance can trigger a domino effect that
can ultimately lead to ecosystem collapse. For example, pollinators such as bees and
butterflies play a critical role in maintaining the health and productivity of plant communities.
Without them, many plants would not be able to reproduce, and the animals that rely on those
plants for food and habitat would also suffer. Similarly, predators such as wolves and lions
help to regulate prey populations and prevent overgrazing, which can have negative impacts
on the environment.
Endangered species also have cultural and economic value. Many indigenous cultures have
close relationships with endangered species and consider them to be an integral part of their
heritage and identity. For example, the Maasai people of Kenya have a strong cultural
connection to elephants and consider them to be sacred animals. In addition, endangered
species can be important sources of income for local communities through ecotourism. For
example, the mountain gorillas of Rwanda and Uganda are a major draw for tourists,
generating significant revenue for local economies.
Furthermore, endangered species can also have scientific and medical value. Many species
contain unique genetic material that can be used to develop new medicines and treatments
for a variety of diseases. For example, the rosy periwinkle, a plant species found only in
Madagascar, produces two drugs that are used to treat certain types of cancer. In addition,
endangered species can serve as indicators of environmental health. Changes in the
populations of certain species can indicate changes in the quality of the environment, alerting
scientists to potential issues that may require attention.
Conservation efforts are essential to protecting endangered species and preserving
biodiversity. These efforts can take many forms, such as habitat restoration, anti-poaching
measures and captive breeding programmes. Habitat restoration involves identifying and
protecting critical habitats for endangered species and restoring degraded areas to their
natural state. Anti-poaching measures are necessary to prevent the illegal hunting and
trafficking of endangered species. Captive breeding programmes are used to breed and raise
endangered species in captivity with the goal of releasing them into the wild. While these
efforts can be costly and time-consuming, they are necessary to ensure the survival of
endangered species.
Another key aspect of conservation is education and awareness-raising. Many people are
unaware of the threats facing endangered species and the importance of biodiversity.
Educating the public and raising awareness can help to promote greater appreciation for the
natural world and inspire action to protect it. Additionally, outreach programmes can work with
local communities to promote sustainable practices and reduce the impact of human activities
on the environment.
In conclusion, the conservation of endangered species is a critical issue that affects the health
and well-being of the planet and its inhabitants. Protecting biodiversity is important for
maintaining the balance of the ecosystem, preserving cultural and economic value and
advancing scientific and medical research. Conservation efforts, including habitat restoration,
anti-poaching measures, captive breeding programmes and education and awareness-
raising, are necessary to ensure the survival of endangered species and promote a
sustainable future.

SubQuestion No : 99
Q.99 Which of the following statements can be inferred from the passage?
Ans 1. Conserving endangered species is important for maintaining the balance of the

ecosystem and preserving cultural and economic value.

2. Endangered species have no economic value and should not be conserved.

3. Captive breeding programmes are the only effective way to protect endangered
species.

4. The loss of biodiversity has no significant impact on the environment.

Question ID : 264330168457
Option 1 ID : 264330660677
Option 2 ID : 264330660675
Option 3 ID : 264330660678
Option 4 ID : 264330660676

Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.
Endangered species are those that are at risk of becoming extinct due to various factors such
as habitat destruction, poaching, pollution and climate change. The loss of biodiversity and
the extinction of species are major environmental concerns, as they can have a ripple effect
on the entire ecosystem. Endangered species are important to protect as they play vital roles
in maintaining the balance of the ecosystem and contribute to the health and well-being of the
planet and its inhabitants.
The importance of conserving endangered species is multifaceted. First and foremost, the
loss of biodiversity can have a profound impact on the environment. Every species has a
unique role to play in the ecosystem, and their disappearance can trigger a domino effect that
can ultimately lead to ecosystem collapse. For example, pollinators such as bees and
butterflies play a critical role in maintaining the health and productivity of plant communities.
Without them, many plants would not be able to reproduce, and the animals that rely on those
plants for food and habitat would also suffer. Similarly, predators such as wolves and lions
help to regulate prey populations and prevent overgrazing, which can have negative impacts
on the environment.
Endangered species also have cultural and economic value. Many indigenous cultures have
close relationships with endangered species and consider them to be an integral part of their
heritage and identity. For example, the Maasai people of Kenya have a strong cultural
connection to elephants and consider them to be sacred animals. In addition, endangered
species can be important sources of income for local communities through ecotourism. For
example, the mountain gorillas of Rwanda and Uganda are a major draw for tourists,
generating significant revenue for local economies.
Furthermore, endangered species can also have scientific and medical value. Many species
contain unique genetic material that can be used to develop new medicines and treatments
for a variety of diseases. For example, the rosy periwinkle, a plant species found only in
Madagascar, produces two drugs that are used to treat certain types of cancer. In addition,
endangered species can serve as indicators of environmental health. Changes in the
populations of certain species can indicate changes in the quality of the environment, alerting
scientists to potential issues that may require attention.
Conservation efforts are essential to protecting endangered species and preserving
biodiversity. These efforts can take many forms, such as habitat restoration, anti-poaching
measures and captive breeding programmes. Habitat restoration involves identifying and
protecting critical habitats for endangered species and restoring degraded areas to their
natural state. Anti-poaching measures are necessary to prevent the illegal hunting and
trafficking of endangered species. Captive breeding programmes are used to breed and raise
endangered species in captivity with the goal of releasing them into the wild. While these
efforts can be costly and time-consuming, they are necessary to ensure the survival of
endangered species.
Another key aspect of conservation is education and awareness-raising. Many people are
unaware of the threats facing endangered species and the importance of biodiversity.
Educating the public and raising awareness can help to promote greater appreciation for the
natural world and inspire action to protect it. Additionally, outreach programmes can work with
local communities to promote sustainable practices and reduce the impact of human activities
on the environment.
In conclusion, the conservation of endangered species is a critical issue that affects the health
and well-being of the planet and its inhabitants. Protecting biodiversity is important for
maintaining the balance of the ecosystem, preserving cultural and economic value and
advancing scientific and medical research. Conservation efforts, including habitat restoration,
anti-poaching measures, captive breeding programmes and education and awareness-
raising, are necessary to ensure the survival of endangered species and promote a
sustainable future.

SubQuestion No : 100
Q.100 Which of the following statements best explains how mountain gorillas are

contributing to the local economy of Rwanda?
Ans 1. Mountain gorillas are a major tourist attraction, generating significant revenue

through ecotourism.

2. Rwanda exports mountain gorilla products such as ivory and hides, generating
significant revenue.

3. Mountain gorillas are hunted for their meat and sold to the local markets, generating
significant revenue.

4. Mountain gorillas are kept in captivity and rented out for scientific research,
generating significant revenue.

Question ID : 264330168458
Option 1 ID : 264330660681
Option 2 ID : 264330660680
Option 3 ID : 264330660679
Option 4 ID : 264330660682

Status : Answered
Chosen Option : 1
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